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�������� ��������� ��
��'
��
������� ����� �������� �� ε (s) �*��	���� 1� 	�� ,����

�!������� ��������� n ��
��'
��
��� ,�
 ��������� μ ������ �����'����� ����� ��� ���������

�����'����*��	��� �� ε (s, n) �*��	���� ������ � ��	���� ������
���� "�� 
��������������(

T (s, n) =
∂ε

∂s
, μ (s, n) =

∂ε

∂n
⇐⇒ dε = Tds+ μdn. ,��2�

+� �� �
���� ����	��� dE = TdS−pdV +μdN �������������� !

���*���
 ���
����� ����������

��"�	�� -�	�� ������� ������� 	��
���
��� ��	����
�� � 3���
&4
��� ����'�� �����������(

ε+ p = Ts+ μn, ⇒ dp = sdT + ndμ. ,����

� ������� �� ���	�
	�������� �� ��
������
� ����

�� ��
�
�� n 
� μ �����	��� 
����������� μ dn → ∑
i μidni�

μn → ∑
i μini� ���� ���
�������
������ �����
�� ��������� ni ����
� �� ������������
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� ��������! ����
� "� �������� �# �$�$�
�
� ��� ������� 
��������� 
� � ���%����� μ&� ��

���� ��� �������� ����� � �������������� �����%���
��� "'�(# 	������ ����� ����)��*

ε+ p = Ts, T (s) =
∂ε (s)

∂s
, s (T ) =

∂p (T )

∂T
. "'�+#

,�  ���������������� ��	 � �����	����� �� ε (s, n) ���� �� ε (s) �����-� ���� "���� "'�.# 
� "'�+#

����� � � p (T, μ)� ���� � p (T ) %����
����� ��� ���� �� ���������� /�������&������%��� -�!���

������#� ��������� 	������������� ��������
�	�� ������� ������ � �������  ����������������

� �����	������ ������ ������ ��� �����
�� �������  ���� ���  ���������������� ���
�������

%��������� �$���� ��� �������$ 
� �!� 	���� �	��! �������
� �� ��� ��� � �
	�� 	�����!  ������&

��������*

ε = κp, p = nT. "'�0#

����� �� ����������� � κ ��������� �� 
��
�� ������ � �� ������������������ "
� ������)� �&

��� �
���-��
����  ��!# ��� ��� � ��� � ������������ 
�����  �������������� ���� ����� �����������

κ = D/2 ��!���� ����� �����$ "���� ��������������������# �
���-��
� ��� ��� � � �� 	�����! �� &

��� � κ = D&�� ����� "�� ��� ���� ε 
������ � �� ����������� � �������� ������ � ���#� ��

��!��� ��� � 1��������&%
�� ��� �� �� ����
�� ������� 2�������� ��	����� � � κ 
��
�����

������ 	������������� ������ ��� ��� �� ������� ���$��� ���� � �
����������� 	��� �� ������

������ ��� �����
����� � ����������$�� 
� ���-
�����$�� �
��� �� "'�0#  �������������� 	���&

� ���� κ = D "������� �������������������� � κ = D/2# � ����� ����� ����� ��� 	� �� �������

������ ������ ��� ����� � -��� �������
��� ��	����� � ���!� ����� 3������������ 	��� � κ

������	��!� �� �������� 
��
���� cs 	���������
���� � κ = 1
c2s

�!��� 	��	����� ���-��������

,� '�0  ����������������� ���%����� �������������� �����-� �%����
���� � ���������� �*

ε (s, n) = E0n

(
n

n0

) 1
κ

e
s
κn ha μ 
= 0 , ill. ε (s) = E0

(
s

s0

)κ+1
κ

ha μ = 0. "'�4#
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p = nT, ε = κ (T ) p, κ (T ) ≡ ∂

∂T
ln

∫ ∞

0

dt shD−1t cht exp

{
−m0c

2

T
cht

}
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��	 �
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n ∼ s ∼ T κ, ε ∼ p ∼ T κ+1. �� !"
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���������������� �� '� �	
�������� �� ������������� � p → p − B� ε → ε + B ��������	$��	�

������� �� �� (" 
������������������ ���� B � ����������	 #�)�)�� �� �� ���	���� ��� ����

���� � �������� ����� ��	
�
������" ����	��� �����*�
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�� &��
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�� � �	
�
������ ����� ��������	� ���������� ��� �
��������� ��� � ���&����


��������	�����	 �������������� ������
	�� �uμ �	 p" �����
� ����� ���� ������	���� ���+ �	

��
&,���	��"� ���� ��� � - � � 	����	� � �
������������� �
���� ��� ���	�� � T �
���	�����

�����
� ����. ����� ���� � *����� &
��	
�������
	 ��$�
	
�� �������� �� � �	
��������" 

� ���������� ������ 
������������������ ������
���
	
�� �������� 	�
�$�
	�� 	��� ��	�

�$	������� �� � � 
��
� � ���
� ����������
�� ���	����
�� � /01 �
*	�� ���� ������
	
���

������ ��������� � p ����
	 � T �
���	����� )		��&,���	� �
����� 2-34 � p ∼ T 4 �� ���
��	

�
� �	������ &������ ���� � �����
�	 �
����� ���
� p/T 4 5���� � &
��	
������� Tc �
���	�����

&)�)��� ���� � �������������� ���������	� ���������� �������� � p ∼ T 4 �)����� �)���$�
���

����� ���� �� ����� ��� 	�� ���
��	 �
� ��� ��
���		
�� ������
 ��� � 6��&��%7��������%&���

�����" #���� ���
� ����� ����� �������������� ���������� ������� � �������������� ��$�
	� �

��������8���
���� �)���$�
��� ��	��
����� �� ���
��	 �
� &���� 
��������������� 9����,� ���
��


� �
*	%/01 	�
���
	������ ���� � ��� ��������8����� ,��)��	� ������
�' &������������ ��


����������������� ������� �������������� � μB%&,���	 ����� � ����������� �����*�
���� ����

&,���	" 	������ 2::4� ����� ����	 � �	��	��� �����������" �)���$��	� ������ � ��������������

������������� *	�� T �	 s �
����
	��� ���	�
���� 

;�����	 ������������ ���� �� �� (" 
�������������� ��� �����	���	 
����
��	$�
	� � κ ���	%

���	 κ (T )%�� ���� *	������ ���� T %&,��
�� ������� ����� ���� �
���	�����&,��
 ����	���		����

	������ ����������� � κ (T ) = 1
c2s

)		��&,���	 �����
� �������	 κ (T ) &,������ �����	�� ��$�%

����� � �,�)�&��� 	�
�$�
	�� �����
� ������ ����������%
������������������ � ����
	� ����

�������������� �����*�
�&,������ �������� � �)�����
�

ε = κ (T ) p, p = nT ⇔ p (T, μ) = p0 exp

{
μ

T
+

∫ T

T0

κ (ξ) + 1

ξ
dξ

}
. �� �3"

<����
��	 κ (T )%�� *	�� � �����������	�����	 �������������� ������������� �	���� �
���� ���%

�)��)� ��$�� ������
	� �2:=4� �
	� �� � > 	����	�� �	" 
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�	��!� "171±9 �������� 	
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�� 	� ��� ��	�����
�����������
������
	�	���� ���������� 	� ��
������� ����	� �	���

  !
���������� 	 p ∼ T 4 "����	���	�����������
����	 ��	�� #����$%���� ��
 �	���� ����� �#���&��� �� ��� �� 	 	� 	���������� ������! ����

�

��� 	 '��$	��(����
	������	��)
)� �	� 	�)� *� �
�	 ��������� 	 +,-.  ��	������
	� �	��� 	�)�

������ ����	
�
� 
�	������� ������
��
�	
�
�

* ������	�
	� �#������� $���	����� ������������� 
�������	��	� $���	�������� /������%��

	� �����������0 �

�� 	 ������	�
	� ��������� �	�
����
�� 
�����%���  	 	� ����)��	 
��
	�	��

	�	� ����� ��
 
���! ����)���� ��
  !�������� *� ������� $���	���  	����)� ������� �� ����� ���

��&��)��
	 �� 	 
���������  ��� ���$��	��	��) "����
�������
����� ��� * �� ����������
	� ������

��) ����� ���$��	��	�����)�0 ����� 	� 	��	� ��������� 	�	���� ��&���� * $��������� �����%����

������ �� �� 1�������2  ������ ����

 	 1�#������� $���	���2 ���������� �#����%��

��� ���� ��) �)�	�  ��� 	  �������	
��	 	����  	����� 	�) ������� �%�#�
#�! ���3 �� ��!����

���� $���	
	��� ��&�����	� 
��� 	 ���	
��	 �������
�� ��	� 	 
��
	�	���� �#���������  	���

����	 ��� 4��	����������� ����
�� 	� 	�	����������� ���������� ����������� &�� �#������� 5  �� 	

6	��	��$��� 
)������ +78.  	����� 	����0 ��!��#� $��&���� 	 $���	��� ������	��
���������������0

Tμν = (ε+ p)uμuν − pgμν . "9�99�

:#������� $���	����	 ��� 	� 	�	��� 	� ���	���	�  ��� ������� ����	�
� ��������
�� "	�	� 	 ��

�������	� uμ = (1,0)� �� ��
��� 	 Tμν = diag (ε,−p,−p,−p) $��
�
	� 	
� ε ������	�;�;������

�� p ������� ���
���	� $���� 
��� '����� ������� ����&��)����;�� 	���� �������%� 	 $���	�����

�#�����������  	 ������	��
�������������	 �������	� ����� ��	������� 	�	��	  �� 	�) 
��$����!

6���������	���$��
���)�	�� �� ����� 	� �  �� 	 ��	���$��
���) �� �	����) uμ��  &���� 	 $���	���
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� �����������
���� �� ������� �� ��!�
�������������� ����"��#� ���� �$����
�� ���!�%

����& ∂νT
μν = 0 �����
���#
 ������� �� �
#�# ����"���� ��'�
������(����)�
� �� uμ%�� ������%

��
�� !��"��*��)�
 ��!"�� � ��
���)�������� +�
��%�����
����,

(ε+ p)uν∂νu
μ = (gμρ − uμuρ) ∂ρp. 	���-�

�� uμ%)�
 !��'������ !��"��*�� �� ������������������ ����"��# ��
���)�������� �����
��,

∂μ (εu
μ) = −p∂μu

μ ⇔ (ε+ p) ∂μu
μ + uμ∂με = 0. 	�����

.� � ��
������ �����)�)# ����� ��������� �/
���� )��� ��������� n �����*��������� '������

����� ������������ �����
��� 	� ��)������� n (x)%���,

∂μ (nu
μ) = 0 ⇔ n∂μu

μ + uμ∂μn = 0. 	�����

+��� �����
���� '������������� "�
/
�������� ��
(�� �
��"�� uμ ��0�(*��"���� ��'�
������(����%

)�
 �/����� 
�)����'��"$�� �� +�
��%�����
��� �� ������������
�� �� � �����*������� ������������

�����
��� ������
ε+ p

1− v2
dv

dt
= −∇p− v

∂p

∂t
, 	���1�

1

ε+ p

dε

dt
= − (∇v)− 1

1− v2
d

dt

v2

2
, 	���2�

d

dt
ln

n√
1− v2

= − (∇v) . 	���3�

+����#
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∂ε

∂t
+∇ (εv) = −p (∇v) , ⇔ dε
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∂μN
μ = 0, Nμ = nuμ, n =

√
NμNμ. ������
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Tμν = (ε+ p) uμuν − pgμν + qμuν + qνuμ + πμν , qμu
μ = 0, πμνu

ν = 0, πμ
μ = 0. ������
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 � p �� �� ε �	��
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πμν = η (∂μuν + ∂νuμ − uμu
ρ∂ρuν − uνu

ρ∂ρuμ) +

(
ζ − 2

3
η

)
(∂ρu

ρ) (gμν − uμuν) , ����0�
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A (rx, ry, rz, t) =
r2x

a2 (t)
+

r2y
b2 (t)

+
r2z

c2 (t)
. &.
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vx =
ȧ (t)

a (t)
rx, vy =

ḃ (t)

b (t)
ry, vz =

ċ (t)

c (t)
rz ⇒ dA

dt
=

∂A

∂t
+ v∇A = 0. &.
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vx =
ȧ

a
rx, vy =

ḃ

b
ry, vz =

ċ

c
rz, A =

r2x
a2

+
r2y
b2

+
r2z
c2
, V ≡ abc, n = n0

V0

V
ν (A) , !"�&#$

T = T0

(
V0

V

)1/κ

τ (A) , ν (A) =
1

τ (A)
exp

{
− Ti

2T0

∫ A

0

1

τ (ξ)
dξ

}
. !"�&-$
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aä = bb̈ = cc̈ =
Ti

m0

(
V0

abc

) 1
κ

⇔ L =
m0

2

(
ȧ2 + ḃ2 + ċ2

)
− κTi

(
V0

abc

) 1
κ
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�� ���'����� ������������% ḟ ≡ ∂f
∂t
! f ′ ≡ ∂f
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�

� ��
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 	��4� )���� r < t���. ����
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∂

∂t
= chη

∂

∂τ
− shη

τ

∂

∂η
,

∂

∂r
= −shη

∂

∂τ
+

chη

τ

∂

∂η
. �����
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 ��� ���������� ��	�������� %��� 
	 ������ 
 ��
'�� ������� ����	����� *� 
 ���&�� �� �
�	#

���� Q ≡ 1
κ+1

ln (p/p0) '���������� �
�
� 
 p0 ��� ����	&����� ����
�! 
'���� 
 ��� '��
��
���

�������� �
	 %����+ �� 
	 ������
��������� ����� ��� 
�
����

Q ≡ 1

κ+ 1
ln (p/p0) ,

1

1− v2
dv

dt
= −∇Q− v

∂Q

∂t
, �����

κ
dQ

dt
= − 1

1− v2
d

dt

v2

2
− (∇v) ⇒

(
κ− v2

) ∂Q
∂t

+ (κ− 1)v∇Q+ (∇v) = 0. ���,�

-	 ������
�������� '��)����& ���� ��� )����� )
�'� 
 ����������"! '��� 
	 
 ����� %����#�����#

����&� �.����� ����
��� /.'��	�''������� ������� �	�� 
	 ���������� ��� 
�
����
��

v̇ + vv′

1− v2
= −Q′ − vQ̇,

v′ + vv̇

1− v2
= −κ

(
Q̇+ vQ′

)
− D − 1

r
v. ���0�

%���	��" ��
�
�����
��
� )�����
� �� 
 1������#�

���������
� ��)� �	��� 
�
�
�
� ��� %	 
	 ��&��

����	����� Ω �
������� ������������ ������'��� - ���0� ���������� '��)����&� 
 �.�����	&��

ch (Ω− η)

(
τ
∂Ω

∂τ
+

∂Q

∂η

)
+ sh (Ω− η)

(
∂Ω

∂η
+ τ

∂Q

∂τ

)
= 0, ���2�

ch (Ω− η)

(
∂Ω

∂η
+ κτ

∂Q

∂τ

)
+ sh (Ω− η)

(
τ
∂Ω

∂τ
+ κ

∂Q

∂η

)
+

D − 1

shη
shΩ = 0. ���3�
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� �� �	����� 
	 �������������! �
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	 ���,,� �5
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�
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� �
���
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����
��� - �.�����	&����

� �� ������ �������	�
 ��
���
 ������������� � ���������� ������
 ������ �����������
������ ���� � p →
p − B� ε → ε + B ������������� �� ���� ����� �� � ���!����
���	�
 � ������
������ � ����� �������� 	������
ε + p �
������ ������"�
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� p �� ε ������
��� ���� %�� ����� 	�������
� �� &��'(
�����������
������ ������" �������� ��
�
��� ���� � ��������
�" 	�
�������  ��
 ��� � ���)����� �������������������
� T ����������� ���)�������� ������ ������
� � ��������
�"���

� � *�
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 ���
����� ������� ����������� �	
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� ����

��� ��
�� �����
����� �������� 
�������� ������� ������ ��� 
������� ���� � ��	��������� ��

���  �� � v �������	���! ���
"� ������� �

�� ����� �	
����#���� ����� ����� � ����� ����
��

��	�� �����
��� �	
������
�� ��	������� $���� �� � 
����
��! ���
������ �	
 ��
�� ��������

������
 %���� ����
 �	
����#�� �	
������
�� ������ ������ �  ���������

� �����������
�� �����%&		���
� '(�)* �� '(�+* %��������������� ���������� ���
�
��� �� ��	�

%�	��������"�
 � �����������
�� �	
������
��� ,�� ������ -./0� ��	
 �� ����� ����	�������

�	
������ '���� ��
������ %��
���
�� ������� �������
� ��	
 ���"��&�"��* ���
��	 �
��������

�� '(�(/* ����	���	
��������1 �����
��������� '(�)*��� �� '(�+*��� '(�(/*��� � 
����
��!� 
� "�
1

(ε+ p) ∂μu
μ + uμ∂με = 0 ⇒ (Ts+ μn) ∂μu

μ + Tuμ∂μs+ μuμ∂μn = 0 ⇒

T∂μ (su
μ) + μ∂μ (nu

μ) = 0 ⇒ ∂μ (su
μ) = 0, '.�2*

���� �� s ����� ���#�#��	�� �	
����
�� ���
3 
����������� �	
����� �	��� ���� �� n��� �����
���

�� '(�()* ����'(�(2*� � 
����
������� �����
�� �

�� ��� �� μ = 0� �� �

�� ��� �� μ 
= 0� �� n���

'(�()* �����
��� ������� �����
�����

�� �� $������	
����� �	
 ���������� %����"�� �� %�������"�
1

(Ts+ μn)uν∂νu
μ = (gμρ − uμuρ) (s∂ρT + n∂ρμ) = 0 ⇒

s

T
[∂μ (Tuν)− ∂ν (Tuμ)] (Tu

ν) +
n

μ
[∂μ (μuν)− ∂ν (μuμ)] (μu

ν) = 0. '.�4*

��  �� μ = 0 '��	
 �
�� �� μ/T 
�������*� ���
 T �� uμ ����� �� �� $������	
��������� 5�
��

������� �������� ��	
 ����
 � '.�4* ������ %����"��� �	
����# ��	������ 
� �����
 �	
 Φ (x)

 ��������%&		���
 �������������� 3	
� ��	
 ��	�
 � ����� %����

��� �������������
�� ����

����
 ���#�"���
�1

μ

T
= const, Tuμ = ∂μΦ ⇒ T =

√
∂νΦ∂νΦ, uμ =

∂μΦ

T
, v = −∇Φ

Φ̇
. '.�6*
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����	��	�$ ����� 	� ������� ��� ���
�� �%
&� �	���'
�����(

� � μ = 0 #�
������ ��������)���	� ��	�*��� ��
�

�������
 �	
��	� ��	��	� #�
������( �� +(�( ��	�	���	� ��,

-���� ��
	,���
,��
�

�.
 �	/��� ���
������ ������� ����
������.� '��� ���� μ/T �����	�� �!�� !�"$ ���
����
��	�� ����� ��
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�� ������ � 	
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� �	�� � v (t, r) 	�&������() ���*
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���� 
���#���� �
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� �	 ���&��������� +� ����
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�
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��������
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&���� �
&����	�� 
	
���
� �	/ �
�
�
		-� �� A (t, r)*�
� �
�%�� 
-&&���(� v (t, r) ���
�*

���#�������� ����� � �
0�#��,���� ��&( A 
&(-�����&, �
�������� 
��1���2

∂A (t, r)

∂t
+ v∇A (t, r) = 0 ⇒ Ȧ+ vA′ = 0 ⇒ v (t, r) = − Ȧ

A′ . .��34/

+���� A (t, r) 
-&&���( 
&(���
��1
� �
&��������� v*�� ����� v (t, r) �
��& %���&� 
&( 
-&&��*

�(
 
�
���& �
&��������� A*�2 ����� A �
�(
�� f (A) �	 �&(����� � v 	
�
		�&�
�'� ����� �� f

������	�� ���
�������, 
-&&���(� ��	�
� .��34/ ������� � 
��(����
�
�
� ����&�������� A*��� � t�

r �����������
��	�
��
�� 	����������� ����� �
&� ��
�(
� �&(������� ���� f (A) 	������������

.5�	 	�,���2 dA
dt

= 0 
	
��� df(A)
dt

= 0 �	 �
��
	-�� ��&(�	 f (A) �	 �, 	����
-&&���(�/ +� 
���&�
�

������� �%��(1 	������		�� 
��
�'����
�' �� �	� ��&( D ���
���,��� &%��	����
�����	 
	
��
�

v ���
�&
�������� �
��
	-� �� ������ %		�

-&&�	2

(∇v) = v′ +
D − 1

r
v = −Ȧ′A′ − ȦA′′

A′2 − D − 1

r

Ȧ

A′ , ⇒ d

dt
ln

A′

rD−1
= − (∇v) . .��33/

+� .3�36/*�
� ��������
���,	 
������� 

�#�� ����������	� 
&(
��
� #&( 
&(	�
�1
� �
&������,2

d

dt

{
ln

n√
1− v2

− ln
A′

rD−1

}
= 0 ⇒ d

dt

nrD−1

A′√1− v2
= 0 ⇒ n = A′√1− v2

ν (A)

rD−1
. .��3�/

7�� ν (A) �
�	�'�
&
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�� 8� A �
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�� Ã = f (A)*� ��	�������� ����� v �&(����

������ Ã 
�	' �
��������� A �
������������ f ′ (A)*	����	�� �
	��
�� �
��� ν (A) ���
0�����	����

�&(����(
� ������ ������� +� s 
���,���	1�1	�&�
 �
��
	
� �&(��
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���,� 
&( ��	��� ξ (A) 
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�
�
��	��
�� 9�&-� �
��� �� n*�
 �	 s*�
 ��������, 
&(
��
�
�

�
&����	�2

n =
√
A′2 − Ȧ2

ν (A)

rD−1
, s =

√
A′2 − Ȧ2

ξ (A)

rD−1
, v = − Ȧ

A′ . .��3�/
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 ��	
�
�	 �	����� ��������
 ������	�� v (t, r)��
 U ���	 ��

���������
����

gμν∂μU∂νA = U̇Ȧ− U ′A′ = 0 ⇒ v = −U ′

U̇
⇔ uμ =

∂μU√
∂νU∂νU

. ������

 ����!" ��	
����# ���$ U �� A ��������%	�!�� �� 	���	���� ���	�
��%� �������$�� � �&�'(�	�

���$�)�(��# ���
 � ����
����	���(*	 �����

 ���!
���
�!��
���! 	���
� � �&�(������
!��%�

+%	�!���$��	�
!� U ���,
������	 ��$���!" ����	
�����
 
�	�	��
%��# �� � T (t, r) �'��!���	�
 ��

� μ (t, r) ������ ��
��-��	 ��	$�

 (�����
��� T (U,A)�
 �� m (U,A)�
 � �&��
���' �*
���

T = T (U,A)
√
∂μU∂μU, μ = m (U,A)

√
∂μU∂μU. ����.�

/� (���	$�

��,
��� ��
# �		�
�� s �� n ����0� �	�

� ����������
 �� +%	�!���$��	�
 ���1� ��	,!���(�#

� �&��
���' ��$���!" ��	
�
�	
 ����%� T (U,A)�!� �� m (U,A)�!���

ξ (A)
∂T
∂A

+ ν (A)
∂m

∂A
= 0. ����2�

�� s �� n �����������(�� A 
�!���	
���!*	 �

�!��
��� U ���!� � ������ ����%
��!
�����	�
��� ��	�
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������
# � ������ �� � ����2� ��	
�
�	�� �!����� 
�
��'	���� U (t, r)#

A (t, r)# �		�
�� ξ (A)# ν (A)# T (U,A) �� m (U,A) �������$�� � �&�(������
!��%� ���
(��

�� ������4������ ��$��	�
�� ����	
���
 �
����

s =
A′

U̇

ξ (A)

rD−1

√
U̇2 − U ′2, n =

A′

U̇

ν (A)

rD−1

√
U̇2 − U ′2, ����5�

T = T (U,A)
√
U̇2 − U ′2, μ = m (U,A)

√
U̇2 − U ′2, ����1�

v = −U ′

U̇
, U̇ Ȧ− U ′A′ = 0, ξ (A)

∂T
∂A

+ ν (A)
∂m

∂A
= 0. ����6�

+���� �� �	
�	���� ����	
����� �����
 ��� ���-��	���-�*
 ��	��
# �� ���
�!���	
 �	���
 
������

� ����� � t �� r ����	
�	 ���	
��������� �� ���� ���
	 U �� A ����	
�	����� ��	� ���������
�� �	���
 U �� A
��	
�
�
���	 
����	
�����	� �����	
�����
������ �����
��� ����
� 	���
 ����
�� �������	 �������

∂f

∂t
= U̇

∂f

∂U
+ Ȧ

∂f

∂A
,

∂f

∂r
= U ′ ∂f

∂U
+A′ ∂f

∂A
⇒ ∂f

∂U
=

A′ ∂f
∂t − Ȧ∂f

∂r

U̇A′ − U ′Ȧ
,

∂f

∂A
=

−U ′ ∂f
∂t + U̇ ∂f

∂r

U̇A′ − U ′Ȧ
,

���� � �����	� ���������� 	

���������� ���������� ����� ������������ � t �� r ������	 
������� U �� A ����	
�	

���	
�����	� 	�� ��	��� ����
 �� U �� �� A t �� r ����	
�	 ���	
�����	� 	� �����������������

U̇ = χ
∂r

∂A
, U ′ = −χ

∂t

∂A
, Ȧ = −χ

∂r

∂U
, A′ = χ

∂t

∂U
, ahol χ ≡ 1

∂t
∂U

∂r
∂A − ∂t

∂A
∂r
∂U

= U̇A′ − U ′Ȧ.
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ν (A) = 0� ���� � ����� �
����� ���!"�
� ���� m (U,A) �� ����" ���
#� m (U,A) = χ (A)m (U)�

$������� ���� � χ (A) = 1 ������" � ���� ���%�� ������"�� �������������
&� �����'�� � ��"����

������ ������������
&� (���" ���������� �%(&�#� U ������� �"���� �)����"��� ���� � �����*�����

T (U) �)����"�� ��������������+&
 U '�������+����� �� ����" U �� Φ�"�
 "������ ������" �
�,�

���
�� 
�(&"
 v��� �� T ����

- �
��.�/�
��,� ����� ���%�� ������"�� ������)�����
 ���(+�" ����'� ��'��'�"���
�� �����'���

#�� 
�(���&"
� �� �� ����(������"����� �� 0�������� �����)
� - 
����
��* ���
�����" ���+&
�

���� �� ��������" ��"���&�� ���������
�� +���"� �� �''�� ��� ���"�� �����' U �� A �)����"��
�

��� 1+ �����'���
�� "�� �� #�� ��'���� 
����"�� ���� ���" ���������
�� ���+���" ������
����+)


� �
��.�/�
��,���" 
������)�� ��"��  ��
 � v �����������*� ��������&
 ���� ��+' �� ���(�

+�" 
�������")� ��� �&'+&
 ��'�"� � 
�"��"&����� �� �� 	&��������"����
��� - 
�
� ���
�����"

�&����
 ���� 
�"
��� (��'���

������ �� ���	
��
��
��
� ���
�
��
���
�


$���&"
 
�� ��'����� ����� ���� �����" �������!�%��)
 � ������������
&� ��'��'�"���
��

����"����
��� � 2�����"�
������ �������� ��'����� � (���" ���������� ������������� �����'+�

�� 	&��������"������ � ����
 ��'���� � ��+�� ����� ����� 
�'�������� �
��.�/�
��,� ����"����


����"������ ���� �������������
&� ������" ����"������� �� ����" �� ������" � (���" ��������

��� ������"��%����� 3�"'
�� ������" ������� ���������
�� +���"� �� ����(������"��� 0�����������

����� 	���" � ���
�����" ����� � �� ���.� ����(������"������� ���� �� ε = κp ������� ������
��&"
�


�"���"� κ ���)������ ��������

2�����"�
�� ��"'������"��� � �
�,� (���" ������������ � 
����
��* 4
56� � "���������������

�� � �*�����
����� �
�,� ���(+�" � Φ (���" ������ ���%���� �� 
�����"��+&
 �� ���.� ����(������"���

μ �� n "��
)� ���%��� ���7� ����'�
 ����"���� �����"�� ���
+��� �����*� s = s0

(
T
T0

)κ


����
���
�

���%����+&
 suμ 
���+������� 	��� ���%����+&
 � 
�"��"&����� ����"������

suμ =
s0
T κ
0

(∂νΦ∂
νΦ)

κ−1
2 ∂μΦ, ∂ν (su
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κ

(
n
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) 1
κ

e
s
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μ

T
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n
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T (U,A) = T̃ (U) e
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κ+1
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1
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κ+ 1− ξ (A)
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v =
2tr

t2 + r2
, A =

r

t2 − r2
, p = p0
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τ 20
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κ
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������� ��������� ����������� +�����2�

� 	������������� 
�����2
� ������������ �����
�� �uν∂νu
μ 
= 0�� ,���
 �������2$ ����0

���" �������� �������
 
�� ���� ������ �� ����������
� � ������������
�� � t0��� �� r0���

��� 3� ����� 	��(�� ����+�� *���
���� �������2�
 ������*��+�� � 	������������� r (t) ������
��

ṙ (t) = v (t, r (t)) ����������
����� ����� �� A �����	
����
� ��� �� ��	�+�������� ���*������0

*��+�� �� A = const ��
���� ����
������$ (�� ������*��+�� r (t) ��	�+������ ����������� t0$ r0

�����	�����������'

r (t) =

√(
r20 − t20
2r20

)2

+ t2 +
r20 − t20
2r0

. ��� ��

4� � ������ 
��
����(� r0����$ �� �����(� t00�� ����
���� �D = 1 ����
��"��
 �� ������� ��

�������
 r *���������
�����
 ������������ r → −r0��$ D > 10�� ����� /��� �����(� r ������0
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 �������� �� ����� �������� ������������ � t → −t /������' 
����(� ������ 1����0
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��$ ����
�� ������ a0 =
2r0

|r20−t20| � � 	������������� �������
�0

�������� ��������� ��*�� 10*��$ ���� � 	�
���������*�� ���� 
��� ������� ���� � ��������$ *���
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�" ���������$ *� �1���
 � 
����� ��� (�� ������
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 ���+���
 ��� ������
��� ����+�
 -+�� ������+�� ��� � ���������$ �� ������

�� ������
��(�+��� � �1������� ���������
 ����� ��� �������2�� ������
��(���� ������� ���

� �� �� ������		�
 �� ε = κp ������
�
�����
 	���
��� �� ��	���� ������� 
���	���� ��	������	 �����
� 	������

ε = κ (T ) p ������
�
�����
 �	�
�� �	� �� ε �������� 
��
 � p → 0 �	�
����
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 � 
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� � �&��� '(�� (�)�

*���+
 �� ��� !��� � 	��
�� ��������� � 	��
�� ����������� ��#� ����� ,"�����-
����"����

��

$�� "� .�� ��!�� $��"/

v = th (2η) , p = p0

(τ0
τ

) 2D
κ
,

� 01�-2���
��-0�����-���������� ���� '3(� 34� 35) ���"� "���� ���
� 	"�� τ �� η ������� �

.������
���� �����"���� �� ���"�"�����/

v = th (η) , p = p0

(τ0
τ

)D
κ
.

6 �
 ��������
� !��� ��&���
�  ��
 �  ��� !��� � ���������� � v = thΩ� Ω = λη ���
�� �!��

λ �������� !����� ����� ���������� 7�#����� "� 	��8�� � � ε = κp� 
������� κ-#�� ������-

 ��� ���������������� �������� .�����
� ��
� � !"����"���"
�" ���������
�� � ����� � �
�� ���

��$���
 ,"�����-
����"����
��� � ��� ��#� ����� Ω �� Q �����"����
�� !�� ���#�9 ���� ��!�-

�������$��+
 � Ω = λη .�������� ���� � β ≡ λ− 1 ���%������ � 6����: �� � �����"��������� $��

���
��/

ch (βη)
∂Q

∂η
+ sh (βη)

(
β + 1 + τ

∂Q

∂τ

)
= 0, 	��

�



���� � λ����	
��
	� ��

ch (βη)

(
β + 1 + κτ

∂Q

∂τ

)
+ sh (βη)κ

∂Q

∂η
+

D − 1

shη
sh ((β + 1) η) = 0. ������

��	
�� �

��
�� ��	� �� β = 0� ����� Q = −D
κ
ln τ ������� �� ����� ������ D��� �� ������

κ��� ��	���
�
 ������� � � �� !�"� �������#�� �

�

 $%��&'������$�##���
(���) �
� �����


��	���
� 	��#������
����� ���
���

 	��# ���
#�� �
��

 ������ β 
= 0� ���* ��������
 �� ���* �	�����
#*� ��+�'����
',� ∂Q
∂η
�
�

�� #������

��(
��
',� � �
�����#�-

(β + 1)
(
ch2 (βη)− κsh2 (βη)

)
+ κτ

∂Q

∂τ
+ (D − 1)

sh ((β + 1) η)

shη
ch (βη) = 0. ����"�

 ##*� ����.���
',�� ��	� τ ∂Q
∂τ

/��� η�
�� +,		� ���� Q (τ, η) = H (η) + K (η) ln τ ���� '���


���#�� �

 ��	 
�
��*��	�� K (η) �� H (η) +,		0���������  �
 ���
 �������#� �����

��(
��
',�-

ch (βη) (H ′ (η) +K ′ (η) ln τ) + sh (βη) (β + 1 +K (η)) = 0,

���#*� ��� �	��
��� τ �
 
��
������ 
�	#��� �

����� ��	� K (η) = K ����
��� ����� ��	� ��	����

0������
 H (η)�
 �� ��	��

�����
'��� 1 p ����
� ��+�'�����
 �� +��(���
'��-

H (η) = −K + β + 1

β
ln ch (βη) + const ⇒ p = p0

(τ0
τ

)−K(κ+1)

(ch (βη))−
K+β+1

β
(κ+1) . ����2�

 � 
��

 ��	���'� ��������
� 0�	�* +��
�
�����
 ����	 �	� ��	�#��� �	�����
�
 ������ β���� ����

Q ���
 +��(�
 ��+�'�������� � ����"��#� 0��� 0����������

��(
���0�� ������-

κK + (D − 1)
sh ((β + 1) η)

shη
ch (βη) + (β + 1)

(
ch2 (βη)− κsh2 (βη)

)
= 0. ����3�

 � �� �	�����
 ��*� ��	����(

�
 '����
 � K� κ� D �� β ����� λ� ����
��	�� ��
������� 4
�

�����,�� �	� ��	���
�
 ����3����- β = 1��� ��� � ��'
��,���
 ��	������� λ = 2 ���
� ������

D��� ��	���
�
 ������� �� κ = D �� K = −2� 5�0
##� �
��� �	�����. ��	���
�
 
��
���
���

����3����- β = ±1/2���� ��	+����*���
� 0������
 κ = D = 1��� ������ β ��	���
���� 1 ����3�

�	�����
#*� �����(
��
*� ��	� �������� � ��	���
��� ������ κ �� D ��
������ �.������� 1

��0�
���* �������#�� �������,� � ����
*��	���
�

�� � ������� ��	 
��
���� β = 0 �
��� � �������	������������������
 ��� ��� �� �����
�� � �� !"# ���������
�$�� ��
�� ����� ��
����%
� ������ ����
�������� ���� β 
= 0 



�� �� �������� �� �	�
�� ��
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�����

λ D κ φλ

a. 2 ∈ R D 0
b. 1

2
∈ R 1 1

c. 3
2

∈ R
4D−1

3
1

d. 1 ∈ R ∈ R 0
e. ∈ R 1 1 0
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�	 ���# � ����� ���

������ � ������	
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 	� � ������ �������	���� ��������������
��

%!�
 &�� ���� ����'���
� 	� 
�(�( ��	�	�� ����� 
��)�
�� $���
� �
������	 
�
��� 	 p ������

����*� ��
 !�� �
�
����
� η�+&����
 ,�	� 	 β = ±1/2 
�
��
� �
�
�!� �
�- ���!��������	 	� $���
�

�
�
�(���
� 	�� �	����.�� ���� 	 ���� +
��
 )�
�� �
�������������� 	� 	����! �$�$ +� ���	�

+���	��	��.� $���
/

v = th (λη) , p = p0

(τ0
τ

)λD κ+1
κ

ch
(η
2

)−(D−1)κ+1
κ

Φλ

, ������

	 �	 	���
 
� �
�
����
� � ���
! �
�!� 
 (�
� �� ��������	�� 	 �
�
��
�
�� 
�
�
�
� 	 ��� ������

�	� �	 �	��	��	� 
��
� �!��
� �� 	 
�� 	���� �
��������� ��	�� �
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 Φλ �	 	���
 � ���
 1 	��� 	 	 �
�������� 	� 	��� p η�+&��(� 
�������� 0� 


t > 0 �	 �������	� �!��
� +
�) � �
������ ���.�#� �0�( +���	���� 	����� ) �
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 �(�� ����
��


�� #�!	�0 0���� �� ��	 �	��	�� 	� n �� μ �!+
�
���
!� ���(��� 	 ������ ��	�	���	� ) �.� +
��

1
��
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�
� 	 �
�������� �	��� �!�
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!��
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� �
�
�(���
�� 
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2
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�
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�����
���

������	�� #��"���	 "����!�����
 ����! � ��$� ���
���� 
��� � κ = 1 ��������� %��
 &����!


1 + 1 !
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�
���

 � 
!���
� ��� �����	 #���� "�� � �������	�
� (
	!���	�����
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���
 �� 
���	 "����!���
 
�� � c. ������	 λ = 3/2� "
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"����!��� !� � κ ���������� � ����������	 "���!��� # �%�� "�!�	 ��� 
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�
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� � ����!
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� t ����
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�� �� ��
����� r (t) ∼ tλ ����
	� 
	! �� �
�����	���
���

����� "����!����� ������ �*"
��� λ�� &����� ���
 ����"����	�
' 
� 	���������
��

������ � ����	
��� 	
���� ���������	

�� ��/�/ ���
�����	 ������ λ�"����!���
 	�"���

�� 

 ����� ���������	
 � �,�/
��	�. #�	��


.��	 
-������ *��
 � "����!���
 
� �%��
.��� "
	� �� ��/�/ ���
�����	 �������
� ��
	� ���
��


"���	 � #�	�
.��	��� :
�

�
 �����"�
 ; �� � 	����
�	���
,����
 ���
!/���
 
����� ��	!��

� 	
� ���� �� ��
,��� � #�	�
.� ��
������	 �,���	

 ; 	�" ����	 	�
���	����� "
	� � #�	�
.��	

�����
 "����!���
�� � ����	� "
	� �� ����	����
 "����!���
 �
���	� ��!�
���
 �����	�
�

2��������
 � #�	�
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v =
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r
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)
, a0 =

r0
r20 − t20

. �#"18 

9�����
$�� �� �� 
	���
� ���
� ������� �� a. ����$�� �
�������) � �	������	�
� ���	�'�
�� ��� ��


������" �� �� a0 
	�
� ����$�� �
�������� �
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�"����������� �������� # 
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 ��� ���� �� ����
��� ������� 
��� ��������� -����
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���
���� ����
��� ���� � �����
�������� ����������
����� �� �
��� v (t, r)

���,��� �����
�� A"� � �������!������ �������
	������ �
�����%�!� ��
���
���
� �������.
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�
������ ����
������ # t > r ����	�
 A ����������<

A (τ, η) =
(τ0
τ

)λ−1

sh ((λ− 1) η) , ha λ 
= 1, ill. A (τ, η) = η, ha λ = 1, -=�*A.

� t < r ������ ��
�� ��� ������� ����

A (τ̃ , η̃) =

(
τ̃0
τ̃

)λ−1

ch ((λ− 1) η̃) , ha λ 
= 1, ill. A (τ̃ , η̃) =
τ̃0
τ̃
, ha λ = 1. -=�**.
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p

p0
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) 1
κ+1 1

νσ (A)
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p
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) κ
κ+1

νn (A) , T = T0
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p

p0

) 1
κ+1 1

νn (A)
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v̇ + vv′

1− v2
= − 1

2p
(p′ + vṗ) ,

v′ + vv̇

1− v2
= − 1

2p
(ṗ+ vp′) , ./��3�
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)
, Q (t, r) = G
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)
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 �� �������� �� κ = 1
 �
�
 ε = p �����������	����
�������
 ���� �
�	��	 ����
����	 ����������� � �� �!"#�$� ����� ����������	��� ���������� ����%�	
 � �� &'()
*����	���� ��	������	 ������%���� ���%���	� &'+) ��������
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 ������� ��������� �� � ���������
�� 



�� �� �������� �� �	�
�� ��

����������� ��	�
�����

������ ����	
�	��
 	����� ��	����� 	 ������ �������� �	 ������������ ������������ ����

v =
g (x−)− f (x+)

g (x−) + f (x+)
, Ȧ+ vA′ = 0 ⇒ A = g̃

(
x−)− f̃

(
x+

)
, ������

p = p0f
(
x+

)
g
(
x−) , n = n0

(
p

p0

)1/2

ν (A) , T = T0

(
p

p0

)1/2
1

ν (A)
. ������

 ���� �� �� !�����
 �"�� ���	����� �������� �
�#����� ������$�� !	���	� ��	����� 	" ���"� �"	�	%

�"���	� ������ κ = D = 1%�� !��	���"�
 ����"������ λ%!	� ������"��� �������� �	 ��&��� $� ��&���

�"	�	�"���	� ������ e. �����
 �	 F %�� $� G%� 	 ��!����"��$

 !��	�"�����

F
(
x+

)
=

λ

2
ln

(
x+

τ0p
−1/2λ
0

)
, G

(
x−) = −λ

2
ln

(
x−

τ0p
−1/2λ
0

)
. ����&�

 ��������� ���	����� ��"��'���$�����" 	���� �	����"�	���� ���
 �	 �" ��� ����"������ t0 (r)

�$��"��( )	�#��%'��*����� 	����
 	" Ω0 (t (r) , r) $� Q0 (t (r) , r) ����!����"��� '*��!$��������

+���� ��!�"������*� 	 t0 (r)%��� ���'����� x±
0 (r) = t0 (r) ± r '$���"��( �����������	�
 $�


��!�� t0 (r) �$��"��( '��*���
 ��!������	���� �"���� 	 ����#���	�� �$��"��� r = r+ (x+)
 �����!�

r = r− (x−) '*��!$����
 	������ 	 ��"��'��*����� 	���� ������  " x± '*��!$��$��� ���	����

��"��'���$������� 	 ����� r±0 ≡ r± (x±)
 t± ≡ t0
(
r±0

)
�����$����� �	�"���!	
 	 ���������

Ω (t, r) =
1

2

[
Ω0

(
t+0 , r

+
)
+ Ω0

(
t−0 , r

−)+Q0

(
t+0 , r

+
)
−Q0

(
t−0 , r

−)] , ����,�

Q (t, r) =
1

2

[
−Ω0

(
t+0 , r

+
)
+ Ω0

(
t−0 , r

−)−Q0

(
t+0 , r

+
)
−Q0

(
t−0 , r

−)] . ������

-�������""*�
 ���� 	 �����	������ ����!��!	��	� ����"��
 ���� Ω%�	 $� Q%�	 !��	���"�	� �"

	 �������� 	" 	����� $��������� ������ � 	 ��"��'���$����� ��� 
�������#��� �� �������"��(��

�"$���������� 	" r → ±∞ ��������	
 �� 	" ��	����� �$
 �$�������� ��� �������� .������ �"�

���"�!���� 	""	�
 ���� 	 ������	� ������ /	��	�%0�	�	�����!%�������� ���������	� !�"����!	

����	����	� ��"����� 	 ��"��'���$����� ��� 
�������#����	�  ���� ������ ��	�������� ���	�������

����� �$������ 1�������
 $� ���	�� 	" ����� 	 �"	�	�"�	� ������ ���	����� �������� !���	��	�

�*������� ��� �	�"����	�� ���" 	 ��������� ��������	���	� ����� ���"���$�$���

�� ��� �� � ���	�
� ���


�� ��� τ = τ0 = const ������
�� ��� �	��� ����� x± = t0 (r)± r =
√
τ20 + r2± r� ����

������� �����
����
���� 
� ��
 ������� ���� r+ (x+) = x+

2 − τ2
0

2x+ � 
� r− (x−) = −x+

2 +
τ2
0

2x− �
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 ��������� �������

�� �� �������	�
 ����

� ������ ������ ������ �������
������ ������������ ����� ���������

� �� �������	�
 ����� 	��
������ �� ����� ������
 ����� ������ �� �!���"�� � ���
�� �����#

����� �� ����� ��� $��� �� ��������� ���	�� ������������� �� �%��&�
 ���� ��� ������ 
��

��
����� '������
��
��(� �����
 �)�	����������
�� ���"����� ��	��������*�+ �������� �� ��,�,

������� ����-� �� ������ �� �
����� ������
 �� ��,�� 
�� �����%�� ��&�		� ��
 �����
 +� �� ���#

�. ������������ �����
��� /� ������, ���%�,&�� ���
	�
 � 	��
������ ���������� �������

������
��0�������� �
����

�� /� � ��
����� �

�� � �������
�� � ���� �1 ��
 ���� ��� ���&���#

����
� �� �������	�
 �����&�&, �� ��� �����"���� ��
������ �� �
������ ���� �� ���������%��&�
 

��������	��� ��,����,������ /� � ���	���� )
����	�
 �� �������� �� �� ����� ������
 ����


��� ��� ��� +� ������ ��� ����		�
 
�� ������ �0�
�+� ��� ������ �������
������ ��������� ��

�����

� ��)�	�
� 2��������� � �������� �� ��������, ���������� �� %��� �� 3�45 �
	����"����


����
�� ���
	�
 ��������� �� ���
 �+��
����� +� 
��������&������
� ����� ��������� ���

���� � ����	
��
�� ��	���
��

� �������
����� ������������
� �������� �� �
����� ��&�������,� � ������������
�� �� �� �#

�� �����"���� �)���
���� ����������
� �����
 
 ���
 �)&��, ��
������ �� �
��� ��������, ������#

����&��� �� �� ����&��, ��� &�
 ��)�)��� ��� �� ������ ��� ����	�
 �&�� ���	�
� �� �� ���

�����"���� ��������� %��)����� ������� ������
� �� �
�+� � ���
�� ����� �� �����
�� ��

 ��

�� ���� �������	�
 	��
������ 
��������&������
� �������
������ ���������� �� ���� �� ������

�������	�
 �%�)
 �������� �)�	����������
� )
����
�� ���
���� ��0��� ��� �%������
 �,���#

� ����� � ������	��� ��	 � 
��
��
��	 �����
 
����� ����	 �		 ����� ��� ���
����
 � �������	 �����
�
����
������ ���	 �������� ����
� ��������
� ������ ����� �
�
 ������
 ����	! 	�"�	 ���
��"�� "��������
 �� n
����������	# $ 
�%�		 ����
	 "�
��
�����
�� �����
���
 ���
������	�� "������"�	��
 ��� �� � ��"�����&��
��
��
��������
���� "� ������

����
 n��'�� ��  ��
 p� T �� v ���� uμ 
����������	 	�
��	��
#

67



�� �� �������� ���	
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�����
�� �
��
��

������� �� �	
���	�	�� ��
�����
���� �������� ��� ������� �
�	��������	� ��
 �����  ����

�������! "��� "	 ���"	��
�##
� 	# �

� 	 ��������
	 $��	���#% &�����'� ��
�'�
�( )�#'���
���'

����#���)*��$����! 	���
 �'��
*�! "��� ����� '��)�������� ���	�! �'�� 	�'� 	���
 �	�����! "	

��� 	���� ��#���' '���'��	�	��	� )������% '���� ����#���)*��$������ 	# *��+#��������! ,�
��� 	


��#�,���� �������$��	�� ���������� ��#�����%� �#�
�	#% '��)��������� �������-  # 	 ���,'��'�

��#	�� �������� �*�+������ 	��%� 	 �#�������%�! "��� '�� 	 �����'�	� ���������' ����#���)*���

$��� )����	
	���	 ��"������� 	# *��+#���� �#�
������ ������ ��"	��	������$	� '��

 ���� 	 )���#����� '���� ���
�� �
	������	� $'#����
��� .# '����)	��	 "'�
��'�	�'�	' ����

�������	� / 	#	# 	 t '�� �� 	# r ���
�'���	 	���� v! p! T ���� )*��$����'� / ����� 	# +��#��

)*������� ��������	
�	� ���� �������� ����	
���
��� ������	
���� ���� �
�
���	
���� �
�

�
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��
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��
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�
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���� ������	
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��
�
��
�� ��������
� � �
��� �
��
�
�� ����	����
�� 
�
	���	�������� ���

�
 ����� �� ����
�� ������ �
� �	 �
����
� ���!��	
�� "��
� ������	
� 
	
���
� �
��� 
��

��
�� t0 ���#���������� ������
��� 
���� ����
	��
#���	 �
��
�� �
����
�� 
����������� ��
�� �
�

����	�� �
�����	 
�
	���	� ���� ���
��
� �
�� �
��
�
�� v (t0, r)� T (t0, r)� 	��� �
���� �	 ��


���� � �
��
�� �
����
���� �����
�� 
��
�� ����
	��
#���	 ��	�
$	��� ���!��	�
��
	� 	�����

�
���	� �
���
 
���� ����
	��
#���	 ����#
�
��� �
� ����
� ��
��
� �
���� 
�� %��������� ��


���� ��������
���� ���!��!�� #���������� v (t1, r)� T (t1, r) �
����
� �
��
�
��& �
����	 �
����

��	 
�
	���		�� �����'� �
� (
� ���'� ��� 	�' �
���� �
�� �� ���
� ����
��������� �
�
���	
�

����
 ����	
 	
��� ����
	�� �
� �!�����
� ����
	��
#���	 ���!��	
�) 
����� ����� ����
�
�
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�
�
� �� *���!��	�
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���� �
 � �
	� ��	����
�� ���
�
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� ����	 ��	������ �
� ���

,� �  
�
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����
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�����	��� �������� � ����
�����������

���' ��#$	
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�
�
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��
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�
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�
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�
	�� � ���
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� �	 � ����
�����

����� 
��
��
�
� 	�������� ���	���������� 1��� �
������	�����	� ���� �
��
������	�����	 
	
��
�

�
��
��� �� �� ���
� ���� �
�	���� ���� 
2
����
 ���!��	�
��
	 ������	
���� �	 
�!��
� � �� ���

�
������ �
� ���	���� ���
������ � %#�� �
��'& ����
��������� �
�
���	
��� �	 ���������

���� � ����	��
� ��
����	 �� � �������������� ����
������

3 ���
����	 ���
����
� ���#�
����	��
 �� f ����	����
�� 
�
	���	��������� ��
�� %	���������

������ ����
��	�
$	��� 
	
���& �� r �
���

��������'� �	 � p ��#����	�'�� �������� �� ������



���� � ����	��
� ��
����	 �� � �������������� ����
������ ��

����� �����	
��
�������� ������� f (r,p, t) ������ ��	
��
��������
� ����� f (xμ, pμ) �����

��	�	��� 
 
�	�������	 

	� �������� �����
� ��	������� f dDpdDr ���
��
 
� r ���������
 �� p

����	��� ����	� dDpdDr �	��� �����������
��
� 	�
� ����� ���� 
��!
�� �������

"�����	��� ��� ���� 
 �����	
��
��������� ���� 
 ��	
��
�������� ������# �����	
��
��������

������� 
� f ���$�����
�	 ��%���	!
�� ��& �
������������ n (r, t) ����� ��������'�'���� v (r, t)

��	&��� �������� �� ε (r, t) (��	��)������
�'�'��� 
 ��
������ ������

n (r, t) =

∫
dDp f (r,p, t) , v (r, t) =

1

n (r, t)

∫
dDp

p

m0

f (r,p, t) , (*�+)

ε (r, t) =

∫
dDp

p2

2m0

f (r,p, t)− m0n (r, t)

2
v2 (r, t) , (*�,)


!�	� ���� ����� ��� m0 ��& ����� ��� ������� -� 
 �����	�	� !�������
���
� ����&������

�������������� ��%�$ ���
�

. ������ ��������
���
� ��������	����
� �� ����&	� !�������
���
� 
	
�����&���� (����

T � μ) ��������� �	��	����	� ���
	
������!�� ������� 

� 

	
��	&�� ��	��
���� 
� �	���	��/

����
��&� �		������ . !�������
���
 
	�
	�
�!
�������
� ��	����	� 
 	���	�� �������� �	���	���

0	�
	���� 
�&
��
 (�	� ��	&
������
) �� 
 ��
���	���& ��� ��� ����$�� 
� �	���	���� 
 ������/

��� ����	��	����� 
������ 
 	���	�� �������� �	���	��� ��& ������	 �����
 
�	���� �
�
�����'

1
23�		/4�	���
��/�	���	���
	 (14/�	���	����
	) ��%���	��� (!
 
 �

������
��������� !
��/

��� �	!
�&
��	!
��
�)� �����	
��
�������� ������� ��!�� ��& n (r, t)� T (r, t)� v (r, t) �������	

��		������� D ��������� ��	&��� ������ 
 	���	�� �������� (145) �	���	�� 
 ��
������ 
	
�6�

f (r,p, t) =
n (r, t)

(2πm0T (r, t))D/2
exp

{
−(p−m0v (r, t))2

2m0T (r, t)

}
=

g

(2π�)D
B (r,p, t) , (*�*)

B (r,p, t) = exp

{
μ (r, t)

T (r, t)
− (p−m0v (r, t))2

2m0T (r, t)

}
, (*�7)


!�	 ��
������� 
 B ��	�	��� 
 4�	���
��/�	���	���
� ��
���� g 
 ����� ���� ����/�������� ���


(g = 2s + 1� 
!�	 s 
 ����)� -� 
 ��	$��� ��
�
� ����� ���� �����
 
��
������� . (*�*) ��


 (*�7) ���	���� ��	���!
��� 6�& ���� T (r, t)� μ (r, t)� n (r, t) �� v (r, t) ��������� �	��	����	�

��%�$ ���� �� ����$�

 ��� !
 
����
� ��& !�������
���
� ��
�	��� ���%	�
� �����	�	� T � n� v�

���� ����
��&��� 
���� ��� 
� �	���	������
��&� ��
���	��� ����

.� �	���	������
��&��� �����	� 
	
���� �� ���
����� . ��!�����%���
� ����
	���
� �������
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� ��	���$�� 
 �����	��� ��	��/

��	�� 
�
�� !��& ��	�	� n (r, t)/� 
 (*�+) ��&��	�� 
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��� !��&
� ��� ����������	 
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 � ��� ��
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 ����� � �
����� ���������� ��
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� ���� μ (r, t) �����

�� �
������� ����	��� ���� �� ����
�!����" !� �� ����� �����
���������� ������ ����� � μ" T "

n �����
������ ����#�� �� $���$� �������#�� ����������" ������� ������ ��������% �$�&� �����
��

��������" � ���
������������'� ������ ��������% κ = D/2 ������������� ( � �����'���������

�� ��
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n (x) uμ (x) =

∫
dDp

p0
pμ f (x, p) , T μν (x) =

∫
dDp

p0
pμpν f (x, p) . ���2�
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f (xμ, pμ) =
g

(2π�)D
B (xμ, pμ) , B (xμ, pμ) = exp

{
μ (x)

T (x)
− pμuμ (x)

T (x)

}
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�������� ������� �
���� ���������� �
�����

������� ��� 	
������
 � ����� ���������� �	�������� �� �����	������	� � �
���� ��������	 ����� ��		����
������ � �������������� ���	���� ������ ��
	���	 �  !"# ��������� �	���
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�� �
������
��� ������	���� ��	����� pμp
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∂

∂t
f (r,p, t) +

p

m0

∂

∂r
f (r,p, t) = 0. �����
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f (r,p, t) = f0

(
r− (t− t0)

p

m0

,p, t0

)
���&�

�
��'� � t0 �%(�
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 �%	�� �����(
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pμ∂μf (x, p) = 0 ⇔ f (r,p, t) = f0

(
r− (t− t0)

p

p0
,p, t0

)
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∂

∂t
f (r,p, t) +

p

m0

∂

∂r
f (r,p, t) = Stf, ill. pμ∂μf (x, p) = Stf. ���12�
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∫
dDp Stf = 0,

∫
dDp {pkStf} = 0,

∫
dDp

{
p2 Stf

}
= 0. ���11�
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∫
dDp

p0
Stf = 0,

∫
dDp

p0
pμStf = 0,

∫
dDp

p0
E (pμ) Stf = 0, ���19�

� � ���������� 	�
����������
� pμ/m0
 ����� ���������
 ��
� ����� ������	 � ����� �
��	��� ���������������
��
 �����!��

� "		�� ����	��������� �
�����#�	 � ���$%� ��	������ �
��	��� ��� ��&���	�� ���� ��		� � p �����	�� 	����&��

���� �� ����&�� ����	������
 � ���$$� �
��	�����	 ����	��� ���������	�
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�" "���" ��%�� �������
���" ����
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�� ������"" f (�" � ���8� ��%����"+�� 0 �'��"��	&" �������1

1

n

∂n

∂t
+
pk∂kn

m0n
+

(
(p−m0v)

2

2m0T 2
− κ

T

)(
∂T

∂t
+

pk∂kT

m0

)
+
pk −m0vk

T

(
∂vk
∂t

+
pl∂lvk
m0

)
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(
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(
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'�� 
��% ��	���� 	�
������� �	%�� ����	��! ��% 	�
�������

�&�(��	�� ���� ��������������'�� �� � ��������� ��&	���� ��
�� ���)

v =
ȧ (t)

a (t)
r, a2 (t) =

Ti

m0

(t− t0)
2 + a20,

n = n0
aD0

aD (t)
exp

{
− Ti

2T0

r2

a2 (t)

}
, T = T0

a20
a2 (t)

. �*!#+�

�� ��� ���� ���� �� #!,! ���������� �#!-.�/�#!-0� �	��� ��	������� ������ �����	����������'�

"'���1'����2&'�� ����	������ 3+#4 �� #!,!-! ���������� ��	2���� ��% 	�
������� ���������

������'� �&�(��	�� �����! ��� � ����	���� ���� �	��	���� D �������������� 2��'� ��	� �� �		��

&����%��	���� �	%����� � κ = D/2 �������� �����%��!
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��% �� � ��	%����&��5	 ��	
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�� v �	��� ��	2�� ����
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f (r,p, t) =
n0√

(2πm0T0)
3
exp

{
− Ti

2T0a20

(
r− p

m0

(t− t0)

)2

− p2

2m0T0

}
,
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v =
ȧ (t)

a (t)
r+

a0
a2 (t)

C0 × r , a2 (t) =
Ti

m0

(
t− t20

)
+ a20, �*!#,�

n = n0
a30

a3 (t)
exp

{
− Ti

2T0

r2

a2 (t)
− m0

2T0

1

a2 (t)

(
C2

0r
2 − (C0r)

2)} , T = T0
a20

a2 (t)
, �*!#9�
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t = 0.7 fm/c t = 1.2 fm/c

t = 0.7 fm/c t = 1.2 fm/c
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��������������� � "�	 � ����� � C0#�� ����	��� ! � 	������ � C0#�� �����	��
$  %���� 
����
��������& � �
�
� n  
���"�	�	����� ��	
	���

� "���� � ��		���
'����� � ��
�$ ��(�� ��	�� M0 ����	
� ���������)�	 � ! ���	(���

��"���
� � ��( 
��*�� ������'��$ ��( ����� t = const �����		������� )��� ���"����� �������		�	�

� ��	�� N0 �� 
�+ �� 
�� ���� n (r, t) ���"����� �������	��� � M0 � )�	$��� ��� ��� ��� ��$����

,�-�%+�$  
�����

N0 =

∫
d3rn (t, r) , M0 =

∫
d3rm0n (t, r) r× v (t, r) ,



���� �����	
	���	
�� ������������� ��

������ ��	
��
��	
�� ������������������� ������� �������� �������� �� ������ ���������� ������

N0 =
n0a

3
0

Ti +m0C2
0

√
(2πT0)

3

Ti

, M0 = C0N0m0a0
2T0

Ti +m0C2
0

. ��	
 �

!� ��"#��#�������#� ���$��� ������$ ������� ������� ���#� � %������&' � %���$������ ����(

��� ��)���������� ����� &����� ���� �� ��� �*�������	 +��������� ������ � ��	
��
��	
�� �������(

��&&�� �����' %���$ �������� �� ������� %�����$ ��������������� ������ ����������' ���� � ��&����

���������,�$ �����,�&�-�&)����& ���&-� �� %��������.��	

/����� &)���&������� ��� ����&' ���� �� n �����,�&������������("��0� ����� �����&���

� ��	
�� ����������� .$� ������$�� ��� �)�����������&#�	 1���#��� C0(�� �� n �����%��-�����

��� ��*.���� %������ ����"�������& %������& ���' C0 �����* ����������' �""��' ���� ��� ���,���(

����� �������-�&)������ ��&�"���.-&	 !� ����� � ���������$� ������� �����,�&��"�&��#���&

���� ��������� ����#����� �������$"��.�' ���� � v2 ����#��� ����	 2����� ����� ����&��' ����

� v2 ����"��&#� %����� �����������&�� &�"��� ���$ ������� ���� ����&������� ���� ������' ��(

���� �""�� v2 ���&.��$� &)���&�������& � �����������&�� &�" �������������� � 3456 !#7!#

-�&)��������	 !� ��� ���#������ ����&� �������� ����� �������� ����� �� ��"#��#�������#�

��������& �������&#� �����������	

���� �����	
	���	
�� �������������

2��� �����-�& � ������������&#� -�&)��������� ��������& ������������	 8��& ����� *. ����(

�����&' ������& � ���������������&#� ������� ��������� ��& ����"����$� ������$�&	 !� -�&)(

��������� 9��������(�������� ��	:� ���&*' ���� ����#&' �� ��� ��	�� ���&* ���������� ��&�����(

�#&' ���&�".#& � �����������&�� ���������&�� �� ��� �
	
;�
�
	
<� ���&����	 3�����������&#�

=-�&)���������> �������� &����-�&	 9�������������� � ��	�� &�%�.����� ��	:�(��' ���&�".#& ��(

��& %�����������

pμ∂μ

(μ

T

)
− pμpν∂μ

(uν

T

)
= 0.

! ���������������&#� ������� ������$�� ���� ������������ .�����' ���� ����& ������ �����(

������ pμ ��"#��#��� �������� ���.��-���� &���	 ?)����� �����,�&�&�� �� �� ������ %��������&��

.�������

∂μ

(μ

T

)
= 0, ∂μ

(uν

T

)
+ ∂ν

(uμ

T

)
= 0, ��	
@�

� � �� �����	
�����
 ��
������ ��������������� ������
 �� ����

����� �� � ���������������

���������

������ �� �� !��"�����
�����	 �����������# ����� � ��	$����% &�����'���() �� �����*�
����
��������� ���



�� �� �������� ���	
� ����
����
 �� 	 
�����
�� �
��
��

���������� �	��
�
�����
������	�� 
���������
� �����

∂μ

(μ

T

)
= 0, ∂μ

(uν

T

)
+ ∂ν

(uμ

T

)
= gμνα ������

����� ���� ������������ ���� α ≡ α (x) ����� ����� !���
����� "��� �� 	�#$$�� ���������� %

����
&� $ 
�$$ ����� ������� �������� % ������ 
����&��	� ��
&$$� '&��	�� ���� � μ
T

=

const !������� ������������ ��������� ($$ �� � κ = D ��
��������$ �� �� �� &��������������
�


�������#� �)�))�*$�� !��+
� �������&��� �����&� ��
�������� ���� TD = const · n� (�� $�+

�

�� n*
� 
�������# ����,� ������	��&�� ��������$�� �� �����
��
� ������ �&����� ������������

����&
��� ����
��� ���� �� ����� ��� ����� ����� α !���
���
� �� α = 2uμ∂μ (1/T ) 
&�����&��

���� �������� (� ������� 
���������
� �� �

������ ����$�� ��� �� α = 0 ��
�����������

������ �� �&
 �-� �
 � ������
+�&���� (����� ������ � ����
� � ���������� 
��������� �����
�

�������
&�	���

. ���������# �������� ���������� ����$�� ���&�

∂μ

(uν

T

)
+ ∂ν

(uμ

T

)
= 2gμνu

ρ∂ρ

(
1

T

)
. ���)/�

0��������� 
��������� �����
�� ����� � ��)� �������$�� �� !���������� �� ε = κp� κ = D �

��
�������� &��������������� (���
� ���� �&��	�� ���)/� ��
�������� �� ���
��������
��&��

�� �� n*
� 
�������# ������	��&�� ���������� ��� 1������ ����� 
����� � ���� �� α �� $$ ��+
�


&�����&�&
�� �� (	��
*�������� �� ���������# ���)/�*$#����

2����!�����
�3 ����
 ���&����	�� �
������� � ��������*��������� ��+
&�� ���������&$#� �
*

����� ������������� ������&��� �� ���������� 
����������� ������� !��� κ = D*
�� !��+
� ε = κp

&���������������� �����&�	��� � 
����������&�
� p = nT �

������ �� μ/T ��������� .� ��������

���������# �������� ����� ���)/�� (� 	�#$$�� &�+
����	� �� ��&$$� !�
�&$�� �� $�
������� ��

� �� ��� Mμν ���		�
���
� 
������� 	������
������ ���� 	����� �
�	���� ������������ 	���������
�� pμ

�������	�
��
��� Mμνp
μpν = 0 
����������� ����� ������ ������������� ��� ��	�����������
�� ���� �� ����

Mμν = 0 ���
!�� ����
����� "�	��
���� ���
!�� ������# �����$��

�� � Mμν = const·gμν ����
��	����� �


��%
� �����!! ���!���$��
 ����� ����� �� ������� ���� �

 � gμνp

μpν = 0 	������&
$� ��� ������!�� 
�� "�	���� ���
!�� α (x) = 0 	��

 uμ∂μT = 0 ����� ���� 
����������� ���� � T ��	�������
��� 	�����

�����������	'
�����
#��$� $�����#��� ������� ������ (!!�� μ = const · T 	��

 
������ ����� ���� � ��	���
��
����$���� �� ����!�� 	$� �� �� ����
����� �	���� �� $�����
�������
�
 	����� 	������ � p (T, μ) ���������
�� �!!�� �����
��	� n (T, μ) �� s (T, μ) ��������
 ��#����� ���� �� ������ 
��	�����	���� 	�������� ����
���
��� �����������	 
�����
#��$�� 	��
�� )���� $��	�$��� !�����$�� ��	 � 	�$�
��
�� ������

� 
$�
�$�
 ��&�#

&�
�*�� 

�� +� (
���'�������
 �, -� ���

� ��
����
&� ������ μ/T = const ���
�� � ����
����.

Tuν∂νu
μ = (gμν − uμuν) ∂νT,

�� 	�������
#� �� �/ ,0�'!�� uν'��� ����1'�������
��
 ������� 



���� �����	
	���	
�� ������������� ��

Aμ = uμ T0

T
�������� �	
�� T0 ��� �� 
����� ��� 
����������� ������ ���������

AρAσ {gμν (∂ρAσ + ∂σAρ)− gρσ (∂μAν + ∂νAμ)} = 0. ������

 !�� �������� ��������	�� "����� ����������# 	��$�� ��
�� �����������
	�% ������ ����������

	! A ����&
�%��$%� ����	�
	�% T �� uμ# �!���� ����� 	 μ/T = const "�������$��# �����'� 	!

���	�����������(���� ��'����� 	! ���)� ���!�"(������$�� n ��# 	 ��'����!��������

T = T0
1√
AμAμ

, uμ =
T

T0

Aμ, n = n0

(
T

T0

)κ

, (κ = D) , p = nT. ������

 ��� ��
�� Aμ*� ����	�������� +����
	���� ���� ,��# 
��� ������ ����������� �(��� "��&�����#


��� 	 ������ �������� ��'�'	���� 	!!	�# 	��� ,�� �	����# 
��� ��
	����� $����� 	! AρAσ*'	�

'	�% ����-*���!�������� .�
�� ��� �������� ���!������� ��/����
������������� �	���� Aμ*���

gμν (∂ρAσ + ∂σAρ)− gρσ (∂μAν + ∂νAμ) = 0. ������

 ! 	! �������� 
������# &�� $������ ��� �������� �������� ���$���
�%�	 �� 	!� 0! ��������

���!����� '�!����	�	 	 +��� "(������$�� �	���
	�%� 1��������� ����%# 
��� �������� �����������

'	� �!%# 	�� 	 
�������	���	� ���������� �������	������
�! ������ �������� ����!��2������ ��*

�� 	! ���������� �!��!���	����� �%��� ��� ��
�� �	����� 	! ���!�� ���������� 3������ �%���

�����(�# 
��� 	! �$$�� �	���� 
�������	���	� ���������� ��!��� "��$���	��	� ���	�	!��# 	��*

��� 	 ��� �!	�	�!$	� �������# 	��� 	! 1 + 1 �����!�%� ���	����� ���������	 ������'	# 	��� 	

��$$�����!�%�# �������% ����4� ��	����� ������	5 6�� �2��� ��
��# 
��� �!�� 	! ,� �������*

��� ��$$ �!������$%� �� �	���� ������ 
�!!��	���!�	� 	! ����!��2 ���	��'��!����� ����������


�	�����
�! �
�	�,��# ���� 	 7	���*�����, ��
	����% ������� 	 ������	��'��!����� ����$�� 89�:��

������ ����	 
� �
�
�	 �����	 ����������

 ���!�� 	 
���������!�%� ����$�� '�!������� ��� 	 ������ ����������# 	���� (���!�����*

��� 
�������	���	� ����������	� �������� 0 +��� "(������$�� $�$�!���&����# 
��� 	 ������

���������� D = 3 ������ ������&�� ������	�����	$$ Aμ '����� 	�	��	 	 ��'����!��

Aμ (x) = aμ + γxμ + F μνxν + (bνxν) x
μ − bμ

2
(xνxν) . ����9�

 $$�� 	 ����!�������� ���'��	�!�
	�% ���	��%�� 	 γ ��	���# 	! aμ �� 	 bμ ������'�������# ���� 	!

Fμν 	����!���������� ���������!��� �;�!'�����(� ��������!
���# 
��� �! 	! Aμ '	�%$	� ������*



�� �� �������� ���	
� ����
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 �� 	 
�����
�� �
��
��

�� ��������	�� 
 ��
�	�������� ���
��������� � ��
���	�		 �������� ��������� 
�����	����
��

�����	� ����	����� ���	���	� 
 ���� �����	! �� ��������� "#�	 �������"� � ������ ��$����	���

��	� "���	��� ���% �		 &��� �� � �����$���	 �������

�� '��$�� (�� ������ % �"�$ �� Fμν = 0 �� bμ = 0) *��" �� γ �� ��	+���% �� � �����$

��$ �"�"��� ���� ("�$���� ������ �  ������ ���% ��"� aμ �� ���	�����$ � ��$��� ��	�	�� ,�


���"�	 γ 
= 0% ���" �� xμ → xμ − aμ/γ ��	"������ aμ�	 �����
� 	���	���� 
 τ0 = 1
γ

�������	

��
���	
� ���" � ("�$��� ��� � � ��
�	���� ������-

uμ =
xμ

τ
⇔ v =

r

t
, T = T0

τ0
τ
, n = n0

(τ0
τ

)D

,

�� �� ��� p = nT � �*� �	���� ����� � (�����	��� ������ ����% ��� . "� �� ����� �"�	��	���� *�

��$ 
����� ����	����  ���	�
���	���� �	��������	�� � ����� �% (������ ��� ����� � �� �"���" 

	� �$��	 �$" ��������	��% 1+1 ����������� ,/��0�" ���!% 3 ����������� ,�����! 
��$ 0����

1�������"�������	 ���� 	 ���"����	 �����	
� � 	������������ ���"���� �2��3� ���		� (��. ������

ν (A) = 1���� 	� 	"�� ���&����� ���	�	% ���� �� 2�4� �������	�� 5		 �� 6� � �����$ 	���	 �� 7�8��	.


�	��������	�����9 	����������% �� � (�����	��� 	� �$��	 � 	��������

�� ,� bμ 
= 0% ���" Fμν �� aμ 6� ���#�������
��% 
������	 � �"" ����	� ������ ��	"����
��

������ ��� ��	�% �"�$ γ = 0 ���$��� 
 �����$��� +�� ���	% �� ���" Fμν = 0 �� 	�������� 5����� +

bμ ���	�� 
�����	��	��� "�$�� 
"��	�"�	�	���  ������ 	% ��"� bμ = (ζ,0)� ,� aμ �� �����"�

bμ�
��% ���" � ρ �� ���	� 	������� ��. �� � ���"����	- aμ =
(
ζρ
2
,0

)
% .�$ �� � �����$-

v =
2tr

t2 + r2 + ρ
, T =

T0τ
2
0√

(t2 − r2 + ρ)2 + 4ρr2
, p = p0

(
T

T0

)κ+1

. ����4�


 ζ �"��	��� ���$�		 ��
���		�� � τ0�	% � ���&�"��	 ����		��- ζτ 20 = 2�

*� � ���"���� � ρ = 0 ���	��� �����$���� �� ����� (�����	��� � :����	���"
���$����	

���.	����
�� 	����	 ����;� ���"�������� 
 ρ > 0 ���	 � ����� 6� � �����$- �� �� � ����� �����

������	 ����% κ = D �����"	��$����	 � � 
��$�� ���"����% �� ��$  ������	���� 
"���� �����

��	��	�% �� � T ���� �����	�	 (��. ��� <����� ��"" ����	�����-

T =
T0τ

2
0√

(τ 2 + ρ)2 + 4ρτ 2sh2η
, p = p0

(
T

T0

)κ+1

. ����=�

1�	���� �����% �"�$ � T ���� �����	� "#�% � p �$"��� �� �� n  ����&������� �� 
���� �� η

������" �����	����� �����- ��"		 τ = τ1 ���� (�����	�� η → ±∞� � ������"� 	� 	��� 
� 
���2�

�� 
����� (������������ ����	���% �"�$ ��$ ��$��� + (��	�
��	 	�
� �� � ���"���� �� �&���6�$%
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��� ��� 	���������
��
�
� � ���� ������	�� � �
�� 
	��	
� �����  ������ � �
�� 	��
�� ����!� �	��	��
�"��� ���������
ρ = 1 #�2$�� �		 �����	���

���� �� �	%�% #��������� ������	� ������ ���
	���� 	��������� �������	�&�� ���
��'��� � ����(�

�)�����������
 � *'�	����

�$�����	���%	 ����� � ����+�$��� 	��
�� �	��	��
�"������	��

�� A �
�	���#,������� 
)����� ���'����
�'��� 
 �� Ȧ+ vA′ = 0 #�	����	�%	-

v =
2tr

t2 + r2 + ρ
, A =

r

t2 − r2 + ρ
=

r

τ 2 + ρ
⇒ ∂A

∂t
+ v∇A = 0. ����+�

.���	 ����+�$��	 ��� 
�/��� �	��	��
���� '���
������
�� ���
	���� �� 
��'�� �
� �'
	 v �	�
��

 ������� T �� n �	�
��� ����� ��� �����%	���� ν (A) #,��������	 � 
)���
��%
-

T =
T0τ

2
0√

(t2 − r2 + ρ)2 + 4ρr2

1

ν (A)
, n =

n0τ
2D
0(

(t2 − r2 + ρ)2 + 4ρr2
)D/2

ν (A) . ����0�

.� ���
	���� � '���
������
�� �����	���
��
� ����
�� �� ,�
)������������ /��
 �� �	%�%	��

#�	"��� ν (A) = 1 ���/��	�� ������� ���� �� ��� �	%�% �� ����'�� �� � ��1��� ���
������ 	��
���
'
�

'��
�	����� 2���	 p ��� �	%��� ����	������ ����� η$���� ��	����'�� �
 �

#�	� 
	��� ν (A)$��

'
�� T �� n �� �� 	������

�� A 
�#��������%	 � #
	����
�	���
 ��	���
��	��� �� #�	"�'��� 
� � 

������ ρ = 0 ������

���
 ���	���������
 � ����	������ �����	������ ��
�� 	���
 ������
� ��� �� 	��������� '��
�	��


��	� ��� �� ������ �����
����� ��������� � #������������� 
)��	"���� � ���� ���� � ����� ���
��

� �����
�����
�� � 

������ �� 	��
�� ρ = 0� �		���� � ρ = 1 #�2 ������ �� ρ ���������� '
���3$

������������ 4�����
� '
�� � ρ = 0 ������� � 
������ �&��)�� �����	��,	 �&�& �� 
�/�� �
��� �

ρ > 0 ������� �� � �
�� ������� 5�	 ��� 
����6 ��� ∼ √
ρ � ���3 ����
����
��

�� 7� �� �	%�% ����'�� ��� '
��������,
 ��� � 	�'��%������ ���

� � ����1� �����	�����



�� �� �������� ���	
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��
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�������� aμ �	
�����
��� ��� ����	������ ���������� � bμ����� �

�� ����� ��
������ 
����
�

�����
 �������� �������������� ���� �� �� aμ =
(
ζρ
2
, ζa

2

)
� 	�� ���� �� ������ � bμ = (ζ,0)

��������������� ���������
� � ��
�����  
�  ����! ���"

v =
2tr+ a

t2 + r2 + ρ
, T =

T0τ
2
0√

(t2 − r2 + ρ)2 + 4ρr2 − a2 − 4t (ar)
, p = p0

(
T

T0

)κ+1

. #$�%&'

(�����
� ��
� ρ > 0 	� a 
= 0 ������� � 
������� ∼ √
ρ ��
��) �*�
��� �
	��	��� ����� �� a

��
��� ����� ��
����� �������� + �	���	��	��
 ��
����	�� �	
��� ��
��
�����
� ��
� �� � �������

��� ����
	� #���
� ������!� �� � t = 0 ��������� �	���
'� ����� �� �������� 
	� ��� �� �����

��
������
��
 �
� ���
! ��
,
���� ����� ������ 
	��� -���	�������� ��� �� ��
�������������


�� A �
����!��

�	���� ������ � ��
������ ������!�� ��������� ������
 #	� �� ��������� ��� ���

��� ����� ��
��	�������'� ���� �� ������ #$�%.' ��������

�� -���� ��
	���
������
 �� ������
 ���
��� �� ���������! ��������� �����" ��� �� �����!

������� �
� ∼ √
ρ ��
��)� ���
! 
���� #$�%/'���� ��
��� �������� �� bμ �������* ��
���� ������

��
� ���
 � �����
�������� ����������
��" bμ = (ζ,0)� 	� ��
��� ���� �� Fμν ������ ������*��"

�����	�������
 �� E� B ��������
����

�� � 
����
���
	���� #�� ���
���������
� �	������	
�

������� 
��0��� ��
���
������ ������! �!���'" F0i =
1
2
ζEi� Fik = 1

2
εiklBl� 	� ��
��� aμ =(

ζρ
2
, ζa

2

)
� 1������� ��
� � �����	����
 ��
������ ����,���������� 	� �� ���
! ����������� ��	������

��
� E�� �������
 ��������
��� 2

�� � ������	
���� 	� � ���	��	
��� � 
����
���"

v =
2tr+ a+B× r

t2 + r2 + ρ
, p = p0

(
T

T0

)κ+1

, #$�$3'

T =
T0τ

2
0√

(t2 − r2 + ρ)2 + 4ρr2 − (B× r+ a)2 − 4t (ar)
. #$�$4'

-�������� ������� 
������� ��� ���� ��������� � ������������
�� �����������
���� ���
! ���


����� �� �! �
��
� ��
������ + $�$� ���� �� a = 0���� ������! �������� 
	��� #� B ��
����� ���

����
�� ���������' ������� 
	� ��������������� � $�4� ������� ������! ��������	����� + #$�$4'�

��� ������!� ��
� ��� ���� �� �������
�� ������ 
��0��� � ���������������
�� ���
! ��
������
�!�

� $�$� ���
��� �	
	� �������
� ��� �� �
��" � T ���	��	
��� 	� �� n �	���0�
������*�*�	
 ���


������������
��� ��
��� �� ����� � ��
������!� ������� v2 �	����!� 
�������� �����

�� + #$�%/' �������� �� ����� 4� ������ ��������� ��� � 5����(����� ���) 
��������������

��
������� �� ��� ������
 ���
! ��������� ����" ��
��� bμ = 0� γ 
= 0� 	� Fμν ��� ������ �
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�
���� ���� �� �������
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��� ���� ��
��  �� ���!���� 
�� ��������"� ��� ���# �����������
�

��� � �$�%&����� �'�" xμ���� ���	���
��� ������� ����� E�� �����������
�



���� �����	
	���	
�� ������������� ��

t = 0.5 fm/c t = 1 fm/c

���� ����� � ����	
 ���
� ��������������� �������������� ��
����� B��� ������
�� �������� ����
��� �������������� �ρ = 1 ��2 B = 1 �� ������������
� �� |r| = t ���!�"��� �� #��$�����

aμ�� ��
��� �����#%� ��������� &���� � τ0 = 1/γ #��$���� ��������� �� ���� Fμν�� �� F0i = γEi 

Fik = γεiklBl ����� ������������� �� E �� � B ����������� � �$������� ��
������ '����#��(

v =
r+ Et+B× r

t+ Er
, T =

T0τ0√
τ 2 + (Br)2 −B2r2 − E2t2 + (Er)2

, p = p0

(
T

T0

)κ+1

. ����)


�� *� � ���)+
���� �������� bμ ������ �������, ��� ������ �������� ��
������� &�!�����

�����%�� ��!�� �������������� ��������� ���� bμ = (0,b) �� ��� � γ = 0 Fμν = 0 �������
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 �
!����� ����
������ ����� �����������( �����! ��� �%�$�$���

������� �� ������� �������.��#����� ������� ������� ���������� ����� ����!�� ��� �� /� ���� �����

�����'���� �������� aμ��� �����
 ��
�
�������%� �� $����� ��!�� ��������������� ��������������

��
������ ������ � ������� ���������.�� ��
�������� � �����.���� %��$��������� ���
������

��� 0��� ������ ������ ��!�� ��
����� ��
������� � ���)+
 �� � ���))
 �
!�����������

������ �� 1 + 1 ��	
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! ����� � )�
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��� ����� '��� � �������������� �
!������� ��
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������ �� 	� � �	���	�� � ���� ���������
 �	���� ������

� �	�
����

��� ��	������������ ��� ��������	
�	� ���  

�����
� �	��������
��!�" �
�� �	���#�	�	� f (x+)"

g (x−) ����$�
�	��	 %x± = t± r& �� ������

� �	�
���� %��'(&)%��'�& ����*� + ,��� ����	����#�

�� � %-���& ���	�	����#� �������" �
�� 	

	� � ��$	��	�# ��	������ 	�	�	 ��� ��������	
�	�

�	�
�����

v =
g (x−)− f (x+)

g (x−) + f (x+)
, T = T0

(
f
(
x+

)
g
(
x−))1/2 , n = n0

(
f
(
x+

)
g
(
x−))1/2 .

+ %���&� ���������
 ���
�� ������

� ����
��
������ �	�
������
 ��� %��'�& ��	��
� �	��	.

�	
�	�
	 	�� �	���#�	�	� ν (A) ����$�
�/ ����!� �	���" �
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�	�2 �	�
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������� ����� �	�6��	��	�#
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�����	��	 
��$	� 	�	�	� � ��������� ���	��	���	�	
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�� ��$�
�	� T (x)" μ (x)"
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���� � �
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�� �������� !��
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���������	 �	���  ���� ��� � !������������	" 	�� ��	 ��
��� �	 ��������	

�������	�#� ��������#� ���� t → ∞ ������	����� !������������
 ���� $���%�����&�� ��� �
 '�(�
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�������� ���� ���� ��&��� ���	���	 �����
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���& ������	���� ���� ��&��� $�
�
 � ��%����	� ��& ���� ������ ����	
��	����+ ������� ������#

���������
 ��������" ������������ ���� �
 �������� ������� 2�� �	� ���� �
�� � �������	��

������	����� ����
�	�����	 ������	���� �������

3
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�4�# ���� ����	�� ���4	��#��� � �����	
�
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����	 1
���� 	
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��� �����

��������� %�������
����� �� ���4	 ��
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3 ������ ��
��� �������	�� ���������� �	 ������	��� ������	 ����������� � %����	� �	 ���

����������� ��������
#����  ������ ����� ��� ������ �	������� ���4�������	 $�
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���#7+ ����
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�	����� � ��������������� ���&����	 �����2 ��
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��� ������ ��� ����� ������	 ���������	 ��
��	��� �����#�� ��	
������#�� �������� � %���# ��
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�������	��� 5��
��	�� ����# ������ ���� � �������
��� ���������������
�� ����� %����	��#�
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�"  �
��-7�
�8� �� 3���-+�
����
������������

�����
� �� �
��
��� �����
 #����
�� 
�
�
� �� sq = 0" +1 �� −1 �
����� �����
�� ���$" g ����� �

���
�����
�
�8��� �����
" �
���� 2s+1" ���� s � 
����8��� ���
��� � pμdDΣμ (x) 
��������
���" �

��9��		 �
�����	�
 ���� ,����
- 
��������
 ����� ����	�
 ������
9�
 � 
����8��� �
�
��������

���� ���
���	� ���� �� � (�������� 
������� 
�
����
�	�
)" ���� ��������
 dΣμ ��
������� ��

(1,0) �����

��� #� dDΣμ (x) � ���!��� ��
�����$

������ � λ���	
��
� ��������
��

� #:�0;$ ����
���	�
 ���
� λ����������" �������� �� 1 + 1 ����
����" κ = 1�
� �
��
���"

����������� λ��% ��������� ������ ����
��
�" �����
 � 
����8��������9
9���" n (x) (������
)"

���� � #:�</$ ����
���	�
 ���
���� ν (A) �!����
� ��
���
� 1� � ��������� ����
���!����� ���

��� � �*������� ����
����� ����� ���= � ����
������ η = 0�	�
 �����
 ����� Tf �
��� #�� f

�
��5 ��� ��
��
��� � ��������
�� ��������� �
������� ����� ���*�
�$" ����	��
� ����� � ���!�

��� �����
 ��������
����
���� � 
�������	��������
�= uμ (x) || dΣμ (x)� #+� ��� ����
��" ����

� �������� (���
�
�
�����)= � ����������� ���!������� ���'����� �����
� ��������
 ������

�

�*
��
�� � ���������$ +� �� ����
�� ��� ������	�
 �����
���" ����	�� �*�� � 3����>�
� ���
��

��
������ ������	�
 ���" #���� �� ��0� ��������$" ����� ����
���
 �
 �� �*		 #��� ������ �����

� � ��������� 	
����
�� ���� ������� �������
������ �� ������������ � ��������� �
���	��
� ��	 ���� ���������

��� ������������ ��� �����������! ��"�������#�� � ����
����	���� ���	���� #����	�� �
����� τ ′ ��#���������	��



�� �� �������� ���	
��	��
��� �����
����	�

��� ��� ����	
��
��� ��������� ����
��
���������� ��� � v2 (η)��� �� ���������� �	��
�� �����  

!"��#�	��������	�

��� $�� � !�%%������� �
���
���� �� ���� � ��
	� 
�&��
�� ������� ������

���%����� � τ = τf = const �����������

 '
�����	�� (�
�	
�������� ���	�

�� � ������
�� ������� η = 0�(	� ����	�� τf ���
��
)�

������'��� �� � Tf � nf ������
��	�� ���������� *���� ��� $+�,-� �� $+���� �����
�.

T (x) = Tf

(τf
τ

)λ

, n (x) = nf

(τf
τ

)λ

, uμ = (chλη, shλη) . $��/�

 � ���� � ��������%��������)�� �����
		��	�	�
��� ������� ���������

(τf
τ

)λ−1

ch ((λ− 1) η) = 1. $��+�

 ������
��	� ��������) �����0��� pμ ��������
� �� y ����
��
���� pμ = m0 (chy, shy) ��
	�

�����������(������ �(	� m0 � ����������� �����0��� �1�����  �������� �	
�������� ���������

�1%% ����� �����0����*��� ��������
� �� ��*�(���
��� ���
��	�
���� 2 &������%� '�'�� (	�� �

��������) (�
�	�	� � '����
�� ����������� ����	�
��%�� ��������� ��	�	�� �� (	�� � �*������

���%�� $� �� 
������� � ���)%%���%�� ��������� �������%�� ��� ���� ������� 0���
� �� ������*'�

��� ��	�	�*�	�� (�
�	�	� ����
��
���	���
�
� ������ ��� �1'����� �� ���� (�%
�� (� � ��������

�1��1� ��	�	��� ���0�����
����. ���	� m0 = 1393�4� �� � g �����
������
0��� ����	� 1 $(����� �

��	� �����
	����
� ���	���  ������
�� ������� ���������� �� η �		�
��
�� ��(��� �� ���(����
��

'� � pμuμ (x) = m0ch (λη − y) 1������������ �� �

����� �����
� � 5		����6����������)� $����

�� ������
�
�� ��������� �� �	'
%% ����*�(�����.

∫
δ (x− xf ) p

μdΣμ (x) →
∫ ∞

−∞
dη m0τfch (λη − y) ch

1
λ−1

−1 ((λ− 1) η) . $��,�

#�(��������*�(����� ���� T (x) �� uμ (x) �������� $��/��%)�� ���� � g
2π�

e−μ(x)/T (x) ������)� ��	�
� ����

���� n(x)
T (x)

����� (��������*�'� �
������ (	�� �� �	������ ����� $4��� �
������� ��'��'�. μ (x) /T (x)�

�� �������7�� �	��������� '������� ��� (�'��	�'� n���� ���� �(	�� �	���	� �������� 8���� �

����
�*���
� ������
� � �1'�����) ����.

dn

dy
=

∫ ∞

−∞
dη

m0τf
2π�

ch (λη − y)

ch
λ−2
λ−1 ((λ− 1) η)

exp

{
−m0

Tf

ch (λη − y) ch
λ

λ−1 ((λ− 1) η)

}
. $����

���� ����� � ��	
���
�	���
 ��	������	�� ������ ���� ���������� ��� ���
 � ��������
�������� ����	���
��	

��
���
 ��� � τ !���	���
�����������	"� ��	
��
 ��#����$�� � ∂τ ′
∂t

∣∣∣
r=const

= u0 (x) ��
��	��� �� �� ��	��	����

������" %������&�
����
����� � pμdDΣμ (x) d = pμuμ (x)H (τ ′) dDx �	������ ��'���(
) '� � H (τ ′) �(�����
 �
τ ′ = τ ′0 
����
��� �������� 
*�(	 
��������	� �(�����
 ��	+ ,������	���	��"� �

�� ��
 ���-�� 
����� .����
���/

����
��� ��	����	� 
����
+ 0	
�� �	��	����������	 �� �	�--� �����	���
-�� ��� ���	�	
����
+



���� � ������	
��
���

� ����
��	
�� ��

��������� ��	
 	 �����
�������� 
�������	� ����	�
��
��
� 	 
���

��� �������
�
�
 �� �	���� 1+1

��������� 
�������� 
��������
 
�����
�
� � ���	��
�

 1+ 1 ��������� ����������
 	 
�	����

�������� 
������
 ��� �����  �!������� ����	�����
	� ���
�"�
��
� "��! #�! 
�������
� "��! 	


������ �	����� 1 + 3 ��������� 
�������� �	���
 ��� 	 �����
�������� ����������� �
 	 ���	��
�



�������� $��	 ��� �� 	 �������� 
�	������� ����!�	� 
������� "������� %

�� �� ���"	
����"	
�

��
 	 �	����
����������
� &'�'( "��!�

 	 
)��

��� 
����

��*

E
dn

d3p
=

∫ ∞

−∞
dη

mT τf

(2π�)3
ch (λη − y)

ch
λ−2
λ−1 ((λ− 1) η)

exp

{
−mT

Tf

ch (λη − y) ch
λ

λ−1 ((λ− 1) η)

}
. &'�+(

%���� 	� )������������� 	 
)��

��� �����
 �������
	
 &'�'(�"�� 
����
* 	 
	��

 ����!����

	 dn
dy

= E dn
dpz

�	����
���������� "��!�

 E dn
d3p

� 	 
������ "������������� ���	����� ��������������

���� � g
2π�

"��!�

 g

(2π�)3
��������� 
������ 	� m0 
)��� "��!�

 ���
 	� mT =

√
E2 − p2z =√

m2
0 + p2x + p2y 
�	������� 
)��� ������
 ���� �""��� "��! &'�+(���� ���
	���
 	 �	����
�����

������
� ��
��������
 
��� 	 
�	������� ���������	 &px��� �� py��	(� 	��
 mT ��� ��

 ��
������	�

$�"	
��
 ���*

E
dn

d3p
=

dn

dy2πmTdmT

⇒ dn

dy
= 2π

∫ ∞

m0

dmT mTE
dn

d3p
. &'�,(

������ � ����	�
��
������� ���
��
� �����
���� ������

� &'�'( ���� 	 &'�+( �� 	 &'�,( 
����
�
�
 ��!����-�� 
���
�
��"�
��
 ������
�� ��
��������	��

����	�����
	� "	������ "	 ���	���� ��! 
)���$
� 	�	��
�
�� �������
 ���$���
� ���	� 	 "	�


�����
���� 	��
�� m0

Tf
���
����"�� 
	�
� &'�'( ��
���	������	� 	� �.����������� 
��!��� ��!��

/�������0� 1��	�����
	�����- ����� %� 	��	 	� #�� �!�������
� ��
������� )
��
�
* "	 f (x) ��

g (x) ��!	� &���	( �������!�
� "��! f (x)���
 x = x0��	� ���� �	.����	 �	�� g (x) �����

���������� �	��	� ���
���
 x0 
)��!�
��� 	

�� 	 �����	
�
 ��
��������	 	 
)��

��� 
)��
$
��


	�
	��	�"	
��
* ∫ ∞

−∞
f (x) g (x) dx � g (x0) f (x0)

√
2πf (x0)

−f ′′ (x0)
. &'�2(

3��	����
����� �� 	� 	 
)���$
��� 	��
�� g (x)��
 
���
	�� g (x0)��	
� f (x)��
 ����� x0 
)����

���� 4	�����)�����
 ��������
� ���!��
 �	�	��
����
 	� f �������! �� �������
�	 "	
�����	 ���

&"	 f ���
 
��!��� �	.����	 �	�� 	 �!)
��� 	�	

 ���
��	� ����
$� ���� ���(� � 
)���$
�� 	����

���
��	��� ����� ��
��� "	����$
 f (x) ��! 1��	�����
��	 &�� "	
�����
��� ���	

 ����(� 5��
��

������!����� "��! ���
 	 
����
�
 ���	

 �������!
 	��	
 4	����	�	
�
 �����	
��	
 ��
������

���	 ��� �	�!�� ��� ��	
 �� 
������	� ���� �	.����# �������!�
��� "	��� 4	����	�	
"�� 
)����

��
������
�	 �� 	�
	��	�"	
�	
� %���
 
��	
��	� ��� 	��!��	 �������� "��! &	� 	���� 
���



�� �� �������� ���	
��	��
��� �����
����	�

����� ���	
���
 ����
�������� �������� 	��
�	� �� ���	����
� ������ ������
	� ���� ��� ������
�
m0

Tf
� 0.7� ���� 
	�������	� 
	� ��
� ����	�	��	��

� �� 	
	� ��!	� � ���	��	�"����	� ���	���� � ������	�#

f (η) ≡ exp

{
−m0

Tf

ch (λη − y) ch
λ

λ−1 ((λ− 1) η)

}
, g (η) ≡ m0τf

2π�

ch (λη − y)

ch
λ−2
λ−1 ((λ− 1) η)

.

�� f $ ������ η1 ��%����� �
 � ��	
	���������	����
�	� 
� �
��	
 ��!!� �	����
�� � ���	��

�	�"�	� �&�&��#

η1 =
y

2λ− 1
, f (η1) = exp

{
−m0

Tf

ch
1
α

( y

α

)}
, α ≡ 2λ− 1

λ− 1
, ���'�

f ′′ (η1)
f (η1)

= −m0

Tf

λ (2λ− 1) ch
1

λ−1

( y

α

)
, g (η1) =

m0τf
2π�

ch
1

λ−1

( y

α

)
. ���(�

�� α ��
����	
� � ����	�	� �	&���
� �	�	�� � !	� )

�	
���� 	�	�	� � ���	��	�"� ������#

dn

dy
= N e

m0
Tf ch

α
2
−1

( y

α

)
exp

{
−m0

Tf

chα
( y

α

)}
, N =

√
2πTf

m0λ (2λ− 1)

m0τf
2π�

e
−m0

Tf . ���*+�

,�� �
��� $	� � ����	�	�� ���� �� N ��
����
� ����	�" ���	� dn
dy

∣∣∣
y=0

� � 
���&���
	��
���
 y = 0

��&
���&���
�!	�� �
���	 �	��	�� -� �	��� � ���	���" ���������
 ����	� �� �� 1 + 1 &��	����


	
	�
	 �
����	
 ����� ���	�
��
��

� �
��
��	
� 
��!�&
��� $������ �
 .��	�	�!	 �	�" ���/� ���	�
�� ���	����
	 ��
����#

E
dn

d3p
=

√
2πTf

mTλ (2λ− 1)

mT τf

(2π�)3
ch

α
2
−1

( y

α

)
exp

{
−mT

Tf

chα
( y

α

)}
.

� dn
dy

��
������
���� 
� �
��	
 mT 
�	
���� ���	�
��� �
 	�� 	��
�	
0 ���	����
� ���������� ���

�	��	�� � 	�� � ∫ ∞

x0

h (x) exp {−βx} dx � h (x0)

β

���	����
 ����
 ��
��������� �� x0 � 1
β
� �
 h (x) 
���� �������� x0 ��
 �� -
	� ��!	� �

h (mT ) = m
3/2
T $ ������
"� ��� 
��� �
 �� Tf � m0� ����
 �	��	
 � � ���	����
 $	����	�	� �-� � $	��

���	� �������� ���� � ��	
	������ ���	����
 ������������
������ $	����	�	�� �� 1+ 3 &��	����


	
	�!	� ���	
	&���� �� �	���#

dn

dy
= N ′e

m0
Tf ch−α

2
−1

( y

α

)
exp

{
−m0

Tf

chα
( y

α

)}
, N ′ =

√
2πm0T 3

f

λ (2λ− 1)

Am0τf

(2π�)3
e
−m0

Tf . ���**�



���� � ������	
��
���

� ����
��	
�� ��

���� A � �������	
����

 ����
����� 	��������
�� ��� �
 ����� ���� N ′ = dn
dy

∣∣∣
y=0

� ����	�����

��� ����
�

� ������� 	��������
������� �
�
��	� ���� �� � ��� !" 	�#������ ������ ��
���$�

%

��������$ ����&�
�	 ���
�'

dn

dy
=

dn

dy

∣∣∣
y=0

ch±α
2
−1

( y

α

)
exp

{
−m0

Tf

(
chα

( y

α

)
− 1

)}
, ��� ("

��� ���
� � ���
� ������ �����	���	 � ��
��
� 1 + 1 �������$
� �)� �� ��
$ � �
����������$


����� ��
������� �
����� * λ = 1 +,�-.���	��-�
�� ���
�
��������� ���	�#���$' �		�� �

��#����

���
��

 ���$��� dn
dy

= dn
dy

∣∣∣
y=0

	��
���
� ����� ��� �� �
 �
��&	� +�
���
 ���
��
� ��

���)��&	 �� y = 0-��� ���� �

���	 �����
�� 
��)�
������ � /�&

-���	��	 ��	������ ���
��



0
����

����1 �
'

Δy2 =
α

m0/Tf ∓ 1/2 + 1/α
, ��� 2"

3
�
��	� ���� Δy2 = ∞ �� λ = 1� ���� �� λ = 1
2

(
1 +

Tf

2m0∓Tf+Tf

)
� ���� Δy2 �������� �
����� λ

�
�������


�� * λ = 1 �
����� �� ���
��

 	��
���
� �)� � �

�	 ���	 �
������ ��� ��� �� 4
�	

�

���	�
� ����
��� �����
����� ��� �5���	 �� y = 0-���� +� Δy2 > 0� �		�� �� ���
��

��	

y = 0-�
� ��6��&�� ���� �����	��� �����&��� 7��������$���� 
���#����$� ������	�##��

� Δy2 > 0 �
�� � �������
����

* �� � 
��
� ���� 	�#����	 ���&
���
4�$�
� �
�����&	' 	�
�
������ ���
�� ��	����
�� �
-

��
����� λ ����	��� ������� ����)���� λ-��� � Tf 	�����

� �����
�	����� ���� � 	����	��� ��
��4
	�

�)#&

� ����� �������" ����
��� 	�#��� 1-�� ����
�� ��#����

���
��

�	��� 8$� �
����$� ����

����� ��#�	&
 Tf �
 m0 ����	�	�� �
 λ > 1-�� �� �������	&
 	�#��� ������� 10%-�
 ���
��� ��
�-

�
����$� �* λ < 1 �
�� ��� 9��	��� ��

&�$ ������

�	��	 ������� ����" * 	����	���	���

� ��� (" 	�#����� ����&	 ��	������� ���
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=

pT chη√
m2 + p2T ch

2η

dn

dy
,

���� E� p� pT � ��	
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���

β ���
�� 
#� ��!�
����� ��� ��� 
#� ������� β = Kζ+K ′ ��������  ��� $���� ���
����� % �
��


����
!�
&��	 !��� β'��� ζ'��� ����
������ ���� ���� �� �
 ���(�	 ������ �������
���
 � κ = 1	

D > 1 ���
��� % 
����%� �

β′′ =
D − 1

3
(2β + 1)

(
2β2 + 2β + 3β′) , 15β′ + 6β2 + 6β − 2 = 0 ������

�������
���
 ��)&���� � ����� � �������
 ��� %��
&��*� β′′'
 � ��&�
%� �� �
 ���� �������
�� !�'

���

���
%�	 �� �

 +��
�!������
%� � ����� � �������

�� ����
��,�� ��
!�
*	 !��� β'�� ������� 

�������
 ��*� �	 %��� � β � ������))�� ����
���� �����  � �
 ���-� � 	 !� κ 
= 1	 ����� �


���
��� � �
������ � .� 
 !���
����������	 �� � �� ��)���� !�����*��	 � �
 �
 �����/ ���(�'

��� β′′'
 �� ���� !����

���
�� ������'��	 ����� ��� ��������# �������
 ��*� � β′'��	 �� ���

� ��&�
!�
� β′	 � �
 β �-��%����� $���� ��� %������� ��)!�
��� ��� � ��&�
��
 β′′'�� .��� β �-��'

%�������
	 �� 
 +��
�!������
%� ���(�'.�� �� �
�� �

  � ��!����

���
�

-� β′'
 β'%�� � ��&�
%��	

� ���-�	 !��� β'�� � ������))�� ��� ������� �������
�
 ��)����

���� �+%�
��

�
!�
-�� 
�!�
	 !��� .��� � ����
��� β ���
�� ���������� $���� ���(�'��� ��

������'��� �
�� �
 ������� �������
�� ���������/

D − 1

3
(2β + 1)− (κ− 1) β = 0, (κ− 1)

β3

3
=

D − 1

45
(2β + 1)

(
3β2 + 3β − 1

)
. ������

0��
 ��� ����
��,�� � ���-�	 !��� +
 ���
 ��!�
������ 0 ����� ���� �� ���� ��� )���
� �����'

�� 
� 	 !��� %��*��� ��������
 ��)��� �
�!�
 � 
��&�� ! ���� ��� �� �������
����	 ���.��� �


 

 % 
����
 �����&
��-����� 1 ���-�	 !��� %��*��� ��� %��	 �� � Q'�� %���
��
* �������
 � ����

���
��� ����
��, �������
 ���
	 �� 
 �+���, �������� � � ��!�
������ 
�!�
/

�� � β = 0	 �
�
 λ = 1 ���
 � ���� D'�� �� κ'�� ��������/ �
 � � ��� 
����
�
���  � ��
!�
*

�d. ���
��

�� � κ = D = 1 ���
��� � ���� β ��������� $���� ����� ��� � ��� 
����
�
 e. �����

� ����� ����	�
� 
����
 ���� β ���
	��

 ��������� ���
����
�	��� β �������	���	 ��� 	��	������ 	�����

������� �� ������� ������ ��������
 �� ������ ��	 �����	���
 ���� β �������� �������	�	 �����	 ��
 	���	 ���
	��
 
� β+1����� ���
����
�	��	���
 � β+1 = λ = 0 �
�	 ���� !���������� !������ ��� β���� �
 ���
����
�	��	���


���	 � β = 0 �
�	�	 ��� 
����	�
�� ��		��
 �� � "#��$�������"�������������
 



���� � λ�����	
���
 ����
���� 
���	� ���	����� ��

�� � κ = 1� D 
= 1 ������	 
���
��
	 
 β = −1/2 ����
��� 
��������� �
 ���
��
� � b.� ���
��

�� �
 κ 
= 1� 
���� 
� �
�� ����	
���� 
 ��������
 ��
������ �!� β"�
 �����#��$ ����	
����

�
%&	�� '		�� ��� ����
���
 β = 1 �� β = 1/2� �� �
�� ����	
����
 
������� ���� 
 β = 1

�
�
� λ = 2 � ���� 
���� 
���������� �
 κ = D� �'� &��� 
� &
��
��

��!������&� ����
��

��� �


%������	
����� '�� 
 ����
���� �

�
�&� ��� 
 (�(� ��
�
���
	� 
 (��� ��
�
���
	

%���� 
 (�) ���
��
� a. �����
	 ��!
�����&	� ���

*� +��,
 
��������� 
 β = 1/2� 
�
� λ = 3/2 ����� ����� κ = 4D−1
3

��

� ���� 
����	� '� 
 (�)

���
��
��
	 
 c. ����
	 �����%�
�

���� � λ�����	
���
 ����
���� 
���	� ���	�����

'���	 
 ��
�
���
	 �-!���	 
�!����.,� 
� �
��� ��
�
���
	 
����� ����
�������� 

���"

�
�

� 	���
�� �
��	
�� 
 #�	��$%�	 � !,
 ��!�	��� ����
�����
�� � #�	��$%�	 � !,
 
 τ̃ � η̃

������	����
� 
 �(��/� ����	
����	 !�����,� ��0

t = τ̃shη̃, r = τ̃chη̃ ⇒ ∂

∂t
= −shη̃

∂

∂τ̃
+

chη̃

τ̃

∂

∂η̃
,

∂

∂r
= chη̃

∂

∂τ̃
− shη̃

τ̃

∂

∂η̃
. ���)��

�
��	
�
	� ��	� 
� �
��� ��
�
���
	� ���� �� �-������������&�� �� v = thΩ� Ω = λη̃ ��"

��	 %
�
���������� ������������!�
 %����
���&	�� ��	��
	� λ"!

� �� '&
��"����	
����
 �� 
�

�	����
����
�
���� ����	
����
 �
%���� #�	��$%�	 ��
,
 ��!�	��� ���)� �� ���(� ����	
����

���#�
�
�� 
 �-!������� �
 ζ = ln τ̃ /τ̃0 .�
-
����
�0

sh ((λ− 1) η̃)
∂Q

∂η̃
+ ch ((λ− 1) η̃)

(
λ+

∂Q

∂ζ

)
= 0, ���)��

sh ((λ− 1) η̃)

(
λ+ κ

∂Q

∂ζ

)
+ κch ((λ− 1) η̃)

∂Q

∂η̃
+

D − 1

chη̃
sh (λη̃) = 0. ���)*�

�
 λ = 1� 
���� �������1�	 ����

�
�
�.&� 
� ����	
���� ����
�����0

∂Q

∂ζ
= −1,

∂Q

∂η̃
= −D − 1

κ
thη̃, ⇒ Q = −ζ − D − 1

κ
ln chη̃. ���)2�

�� ��� #�
���� v = thη̃ = t
r

������������ �� 
� ���)2� ��#�.������
 ���
���� Q"��
 !����
�����
�

p 	����� 
� 
 ����
���� 
��� 
 (���(� ��
�
�� �(��3� ����	
�����	 
 �4
"5.����	"�&��
�"

����
��� #�	��$%�	 � !,
� 
	

��.
��	�  ��&	� 
�� 6�	��� ���.�����	�� ���� 7�	��4���"��"

����	�����
	 ��#�.��!� ��� 
 ������������� ��� 
 	����� 	�� &��
	�
�
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#�	��$%�	 ��
,
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�� �� �������	� 	
�����
����	 �� ����	� �����
�
���
	�� ���������	���

� λ 
= 1 ������� ��	
���	 �
��
���� ��� ���� 
� ����� ��
�
���
�� ����
������� 
� η̃ =

0 ���
� ������ ��� 
 ���
� ��� ��	 ����������� ��� ������� 
� ����!�
� ��	� ��" ����#�	��

�
��
�
�$ � Q �������#�� 
 ����������

Q (ζ, η̃) = Ã (ζ) + B̃ (ζ) η̃ +
C̃ (ζ)

2
η̃2 +

F̃ (ζ)

3
η̃3 +

G̃ (ζ)

4
η̃4 + . . . . ���%&$

�� ����� ��
�
�� ��� ��
������#��� �
����!
� ���%'$(�� ����
������� η̃(�
� ���	� ��� ��� ���%)$(

�� *� �� �
��
 ��� ��� �+�� �� �� ����� ���	 ��#� � 
�� ����� 
 �������#����� �� �
� ������ �

��������#�	� 
 �$ ,���	�� �� ����� ���	 B̃ (ζ) #� F̃ (ζ) 
�����
� ���"���� 
 ����� ����#��� *� ��


 ��������� ����
 
 �#�	����� β = λ− 1 �����#�� �
���
��
$�

β + 1 + A′ = 0, ���%-$

βC +
β2

2
(β + 1 + A′) +

C ′

2
= 0, ���%.$

β (β + 1 + κA′) + κC + (D − 1) (β + 1) = 0. ���/0$

βG+
β3

6
C + (β + 1 + A′)

β4

24
+

β2

4
C ′ +

G′

4
= 0, ���/%$

β3

6
(β + 1 + κA′) +

κ

2
βC ′ + κG+

β2

2
C +

D − 1

6
(β + 1)

(
β2 + 2β − 2

)
= 0. ���//$

1
����� 
� ���%-$(
� ���/0$(�
 2��
 �
������ ���	 C ��� ���#** �����
��� 
�� 
�
*�
� ���%.$(

��� #� ���%-$(�!� β 
= 0 ������� C = 0 �� ����������� 
������ �
 β 
= 0 #� β 
= −1� ���/0$ 


(κ− 1) β = (D − 1) ���/3$

����#���� 
 �
� ,��
���
��
� ���	 C = 0� ���/%$(��� #� ���//$(���� G �������#�#��� *� �� 
� 


����#��� 
 ! ��� ���	
D − 1

3κ

(
β2 − 1

)
= 0. ���/'$

�� 
 �#� ��	����� �
� �������2��
 
 ������#��� ����� 
���
�� ,#� �������#� �
�
 � �
�	 β = 1

#� κ = D� �
�	 D = κ = 1� #� β ������������

� β = 1 �
�
� λ = 2$ ���� *� �� ��� �
�� ���� 
 �/�30$ ����� 
� �#�	��*�� �2���� 
�
�!��
�

���	��� 
�
��
 ���� ���%'$(��� #� ���%)$(��� �� ����
*�
�!�

v = th2η̃, Q = −2z ⇔ v =
2tr

t2 + r2
, p = p0

(
τ̃0
τ̃

)2(κ+1)

. ���/)$

� λ = 1 ������� ���#���� ����� 
 λ = 2 ������� v #� p �������#�� 1����4���(���� ��
�
��
�



���� � �����	
����

��� �������
������������ ��

������� � ����	
��� 
���� �� 	����� ����� ����� � ��������� ������� ���	���	��	���������	
��

����	 ��� ����	�� ���������
�� �������� �����
�� ����������! "��� ��� �� ���	����	 ���#

$� �� ���� ���	�� λ ����������� �� D = κ = 1 � ��� ������ ��������� λ��� ��������

����������!� �������� %� &#'#(# ���	���
�� ���� ����������
�� �� e. ����) ����	
��� 	�����

���������*��

v = thλη̃, Q = −λz ⇒ p = p0

(
τ̃0
τ̃

)2λ

. %$#&+)

,��	�� �� ���������	�� � &#'#&# ���	���
�� ��������� �����#

���� � �����	
����

��� �������
������������

������ � ������ 	
��
��� 

�
�
���


$ &#(#'# ���	��� ������� � ���
���������	�� %(#-) ���������������. ������������	�� "�������

����	�� ���������	 � %&#&+) ��������
�� 	��"��!	# ,� ����*�� ���	��������� ���������.�� ��

��"�� ������� � &#&# ���	���
�� ����� 
* ��������� ��� �������. 	����������
��# $ ��� 	���
�


�� �� ������ �� (#/# ���	���
�� �������� �� �� ��	���������������� �����	��! '#'# ���	���
��

� %'#(0) ����������� ������ ���
���������	�� ���������������	�� ���������� ���� � 	����	����

������� 
�������� D �������!����
 ���
�� �������� �� "� κ = D/2 %��� ���������������	��

������� ����� �����	����) �		�� � v ��
��������� �� � T "������	��� �� �������� ����������

���	
 ������ D ������# 1�����������	�� ����
�� � κ = D ��������� � ������������ �����!�


��"����	 ��"�� ����� U ��������� ������� ��� %&#&+)��� ������ D��� 	�������� "� κ = D#

2�"������������ ���� ���"��! "��� ����� � ����������� %&#&+) 	�� ���������� ���	 �����

(ha ∀ D = κ− ra U ugyanaz) , (κ− 1)
Ü U̇2 + U ′′U ′2 − 2U ′U̇ U̇ ′

U̇2 − U ′2 = U ′′+
D − 1

r
U ′− Ü ⇒

⇒ Ü U̇2 + U ′′U ′2 − 2U ′U̇ U̇ ′

U̇2 − U ′2 − U ′

r
= 0 , U ′′ − Ü = 0. %$#&-)

$ ������	 ��������
�� ������ ������	 "��� U ��� 	����! �� ��� 
����! 3����������
 ��	"�����4

������� %��� ���
"����� "����� ������ D��� ����� ����������� ��� ��5����� ���	
)�

U (t, r) = f (t+ r) + g (t− r) = f (a) + g (b) ⇒ v = −U ′

U̇
=

g′ − f ′

g′ + f ′ =
1
f ′ − 1

g′
1
f ′ +

1
g′
. %$#&6)

,

�� �� $#'# ���	���
�� �������� �� a ≡ t + r �� b ≡ t − r *������� "�������� �� f �� g

��*�� ������������ �������� ��������*��� *������ ��������� %��� ���� �����	����"��� �� r ��������



�� �� �������	� 	
�����
����	 �� ����	� �����
�
���
	�� ���������	���

����������	�
� �
 ��� ��� ����
������ f �� g ������������ �����
 ���� ��������� �
�����	 ����

��������������� ��� ��	�	������	� 	
� �	!�"� ����

(f ′′ + g′′) (f ′2 + g′2)− (f ′2 − g′2) (f ′′ − g′′)
2f ′g′

= 2
f ′ − g′

a− b
⇒ a− b

2

(
f ′′

f ′2 +
g′′

g′2

)
=

1

g′
− 1

f ′ .

#���
�� ���� ������� ������� 	
 F ≡ 1
f ′ �� G ≡ 1

g′ ������������ 	����� 	 �����������

(a− b) (F ′ +G′) = 2 (F −G) ⇒ (aF ′ − 2F )− (bG′ − 2G) = bF ′ − aG′ ����$


	�	�%� &���� 	 '	� ���	� ��� a( �� ��� b)����� �	� *��
��� 	 ��'' ���	��	� �� �������� ����

������� +
 	�	!��� F ′ a)�	� G′ !���� b)��� �������� ��������� ���� ���� ������� #�����	��"�

����� 	 �*�����
������ ����

F ′ = 2Ka+γ1, G′ = 2Kb+γ2, ⇒ F (a) = Ka2+γ1a+ρ1, G (b) = Kb2+γ2b+ρ2, ���,-


�� ����
	������������� ����$
)'� ������� ���� γ1 = γ2 ≡ γ ρ1 = ρ2 ≡ ρ ���� ���� ���������*��

�
 ����.
 ��������'�� ��� ������	��"� 	 ��'�������/

v =
K (a2 − b2) + γ (a− b)

K (a2 + b2) + γ (a+ b) + 2ρ
=

2Ktr + γr

K (t2 + r2) + γt+ ρ
. ���,0


1�� �������� ��������� �	�/ �	 K = 0 �� γ 
= 0 	���� 	 t ���������	 ���������	� 	
	
 	

t → t − ρ
γ

���������������� v 	 2"''��)��!"�% ��'�������
� ���
� 2	 K 
= 0 	���� ����''	�

���������� ��������� �	!"��/ �
� 	 t → t− γ
2K

���������������� �"��"� 3��	��	��4 	�	��	 ��
���

&������ ����'�� �*����� ����	����
�	��"� 	
 Ȧ + vA′ = 0 ���������� ��������� A ����������

5���� 6�	� 	 �*�����
� ��� ���������	 ��	
 ���� ������ D)�� κ = D ����'�� ��������/

v =
r

t
, A =

r

t
, ill. v =

2tr

t2 + r2 + ρ
, A =

r

t2 − r2 + ρ
. ���,�


+
 "�7''� �������� %� �������� 	 ���� �
	�	�
'	� 	 ρ = 0 ������ ��
�����"� ��
 	 ��,� �
	�	�
)

'	� ������ λ = 2 ����
� � ρ 
= 0 ���� !���� 	 ,� ����
��'�� ������ ��� ���� 	
 ���*
��������

��������	���	� ���������� ������	�����	'' �����"�7 �*�'�
��������"� !�����	�
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�  ��
� ���	& '���(

(κ− 1)
Ü U̇2 + U ′′U ′2 − 2U ′U̇ U̇ ′

U̇2 − U ′2 + Ü − U ′′ − D − 1

r
U ′ = −φ (U)

(
U̇2 − U ′2

)
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Ü U̇2 + U ′′U ′2 − 2U ′U̇ U̇ ′

U̇2 − U ′2 − U ′
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U =

∫
da

F
+

∫
db

G
⇒ v =

F −G

F +G
, F ′ +G′ − 2 (F −G)
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F
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∫
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G

)
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m0T
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T 2
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∂v
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T
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)
= 0 ⇒ ä =
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gρσa
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[μν] = gμνa

(2)
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